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TP delay

TVC(c,b ch) (0, 14 13

= pO

[ns]

T nui pz3e+ud / 25
4224+ 0.0
pl -36.35+ 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(CbCh) (0,14,2)

= po

X~ 1L 5z9e+04 [ 25
4199+ 0.0
p1 -35.85+ 0.00

TP delay

TVC(Cbch) (o, 14 6

pD
pl

[ns]

T i rzze+04 [ 25
4205+ 0.0
-34.01+ 0.00

F C = 29.40 [ps/ch]

50 10'0
TP delay

TVC(eb,ch)=(0, 14, 10

= "0

[ns]

T rnuzbe/e+u4 [ 25
4230+ 0.0
pl -35.96 + 0.00

TP delay

[ns]

TVC(CbCh) (0,14,14)

x- 1w s1ie+ud ] 25
[F-e. po 4238+ 0.0
[ p1 -37.11+ 0.00

P PR TR |
50 100

TP delay

[ns]

TVC(Cbch) (0,14,3)

A 1L obge+ud [ 25
4196 + 0.0
p1 -35.19+ 0.00

4000 (e

po

3000

2000

1000

TP delay

TVC(c,b Ch) (0, 14 7

2000 pO

[ns]

- nui /Zoe+u4 / 25
4205+ 0.0
pl -34.57 + 0.00

3000 -

2000 -

woor C =28.93 [ps/ch]

TP delay

TVC(e.beh)=(0, 14, 11

4000 pO

[ns]

T nuiysse+ud [ 25
4229+ 0.0
pl -36.05+ 0.00

3000

2000

1000

TP delay

TVC(cbch) (0, 14 15

AT

4000 [u.

[ns]

- Se+ud /25
4243+ 0.0
pL -37.32:+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,15,0)

AT inuaiL s/ re+04 /25
.. po 4193+ 0.0
pl -33.6+ 0.0

[ C=29.76 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,154

T4 /e+u4 /25
- pO 4208+ 0.0
p1 36+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (0o, 15 8

©1nuz1o8e+U4 / 25
= po 4217+ 0.0
pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (0,15, 12

T L gsse+u4 / 25
= po 4229+ 0.0
pl -34.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,15,1)

AT 1 nuiLzs4ae+u4 [ 25
.. po 4192+ 0.0
pl -33.06 + 0.00

[ C =30.25 [ps/ch] ™. 7]
1 G

TP delay [ns]

TVC(cbch) (0,155

- nui rZoe+u4 [ 25
e, pO 4211 0.0
pL -36.29+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 15

~ 1 naigz00e+u4 | 25
- po 4255+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (0.15,13

T nai ryae+ud 25
= pO 4219+ 0.0
pl -34.72+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(CbCh) (0,15,2)

K™ 1 nuiLooie+u4 /25
_- po 4215+ 0.0
o pl -35.29.+ 0.00

3000

TP delay [ns]

TVC(cbch) (0.15,6

-1 nur bbze+u4 [ 25
- pO 4216+ 0.0
3 pl -36.42+ 0.00

TP delay [ns]

TVC(cbch) (0, 15 10

1000

©1nuizyzge+u4 | 25
-, po 4275+ 0.0
- pl -36.07 + 0.00

TP delay [ns]

TVC(cbch) (0.15, 14

~ 1 nuiLpoze+u4 / 25
F-. pD 4216+ 0.0
L -34.39+ 0.00

- C = 29.08 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,15,3)

AT 1 nuiLzuze+ud [ 25
- po 4210+ 0.0
p1 -34.85+ 0.00

TP delay [ns]

TVC(c, bch) (0,157

-1 nui byle+u4 / 25
- pO 4232+ 0.0
pL -36.58+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 15 11)

[ C=29.05[ps/ch]

o je+Ud[25
pO 4251+ 0.0
pL -34.42:+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (015,15

Tonan g sbe+ud [ 25
- po 4225+ 0.0
p1 -34.93+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0

A7 1 nui ouse+ud / 25
P, po 4181+ 0.0
pl -36.2+ 0.0

TP delay [ns]

TVC(cbch) (1,0,4

- L S16e+04 / 25
™, pO 4163+ 0.0
pl -35.95+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 0,8

Trnuzz(e+04 /25
= po 4186+ 0.0
p1 -34.34+ 0.00

TP delay [ns]

TVC(cbch) (1,0,12

T rnuiL43ve+ud [ 25
= po 4200+ 0.0
pl -34.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,1

X~ 1 i [sae+U4 | 25
' po 4184+ 0.0
pL -36.81% 0.00

TP delay [ns]

TVC(c,b ch) (1, O

-1 nun goze+u4 [ 25
pO 4172+ 0.0
pL -35.41% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1 0,9

T nu goze+ud [ 25
po 4207+ 0.0
p1 -34,53+ 0.00

TP delay [ns]

TVC(cbch) (1,0,13

T inuizyrve+ud [ 25
pO 4199+ 0.0
pl -35.94+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,0,2)

AT 1nui 71se+04 /25
P po 4177+ 0.0
- pl -35.53+ 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

- nunLg1Ye+u4 / 25
4182+ 0.0
-35.41+ 0.00

TP delay [ns]

TVC(cbch) (1, 0 10

~1nuizylse+ud | 25
= po 4226+ 0.0
- pl -34.74 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,0,14

Tz 1z9e+04 [ 25
= pD 4212+ 0.0
L p1 -37.26 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3

AT 1L sbze+u4 [ 25
- po 4200+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

-1 nui Y34e+04 / 25
e, pO 4192+ 0.0
pL -36.26+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, O

T, ibie+l}4/25
e pO 4234+ 0.0
p1 -35.45 + 0.00

TP delay [ns]

TVC(C, bch) (1,0,15

T nuiz szae+u4 [ 25
= pO 4205+ 0.0
p1 -36.42 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,0)

A1,

e, po

pl

ro1e+U4 /25
4174+ 0.0
-36.1+ 0.0

TP delay [ns]

TVC(cbch) (11,4

= o,

/b4e+04 | 25
4174+ 0.0
-35.6+ 0.0

1
50 100

TP delay [ns]

TVC(ebioh)=(1, 1,8

e pD

p1

T ye+u4d /25
4193+ 0.0
-34.57 + 0.00

TP delay [ns]

TVC(cbch) (1,1,12

b, po
p1

T rnuiLyure+u4 / 25
4209+ 0.0
-36.29+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1)

=, po

AT 1 nuiLoyse+ud [ 25
4194+ 0.0
-35.56 + 0.00

pl

1
100

TP delay [ns]

TVC(c,b ch) (1, 1

- nui Bl/e+u4 [ 25
4191+ 0.0
-36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

pO
pl

T nu, fb3e+ud / 25
4217+ 0.0
-34.25+ 0.00

- C =29.20 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (1,1,13

= pO

T nuiyzye+ud [ 25
4202+ 0.0
-36.71+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

TVC(cbch) (1,1,2)

P PO

K™ 1 nuiosye+ud /25
4194+ 0.0
p1 -35.24+ 0.00

TP delay

TVC(cbch) (11,6

pO
p1

[ns]

“ i 753e+04 [ 25
4200+ 0.0
-35.94 + 0.00

TP delay

TVCebeh)=(1, 1, 10

[ns]

Tz 37 e+u4 [ 25
4225+ 0.0
-34.36 + 0.00

= "
L pl
3000:— __
2000:— _:
wof C = 29,10 [psich],, ]
4 Y T
TP delay [ns]

4000

3000
2000

1000

TVC(cbch) (1,1,14

T L ysse+u4 / 25
4212+ 0.0
pl -36.75+ 0.00

PR IR SRR |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3)

» PO

p1

AT rnuiL4yie+ud [ 25
4201+ 0.0
-34.9+ 0.0

TP delay

TVC(c,b ch) (1 1,7

e pO

[ns]

-1 nui fuoe+u4 / 25
4200+ 0.0
pl -35.15+ 0.00

TP delay

TVC(c,b ch) (1, 1

[ns]

1)
T nai ryse+u4 [ 25
4228+ 0.0
-35+ 0.0

TP delay

TVC(cbch) (1,1,15

= pO

[ns]

Tinuible+ud [ 25
4202+ 0.0
p1 -35.19+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,0

A7 1 nui449e+04 /25
. po 4193+ 0.0
pl -36.6+ 0.0

TP delay [ns]

TVC(cbch) (1,24

T L4 r3e+04 / 25
Fe pO 42114 0.0
p1 -35.79:+ 0.00

TP delay [ns]

TVC(ebeh)=(1,2,8

©1nuizug4e+u4 | 25
= po 4195+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(cbch) (1,212

T 1L yzze+u4 | 25
= po 4238+ 0.0
pl -36.63+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,21)

T 1oze+ud [ 25
' pO 4194+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

“nuiLb/re+u4 [ 25
pO 4230+ 0.0
-35.7+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 2

T nug.zoze+ud [ 25
po 4217+ 0.0
pl -35.02 + 0.00

TP delay [ns]

TVC(cbch) (1,213

Tinan g oze+ud [ 25
pO 4236+ 0.0
pl -37.14+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,2,2)

A7 1 nui zyoe+u4 / 25
_- po 4207+ 0.0
o pl -35.62+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,26

© i, ruze+u4 [ 25
- pO 4238+ 0.0
[ pl -35.87 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 2, 10

T nuizuzze+u4 | 25
= po 4226+ 0.0
- pl -35.08 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,2 14

T Ly rve+ud | 25
-, pD 4237+ 0.0
L pl -36.12+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,3

AT 1L syse+ud [ 25
- po 4201+ 0.0
p1 346+ 0.0

TP delay [ns]

TVC(c,b ch) (1 2,7

S rnan 1.93e+u4 [ 25
- pO 4235 0.0
pL -35.55+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

T azue+u4/25
e pO 4249+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(C, bch) (1,215

T onanzuze+ud | 25
4233+ 0.0
-36.11+ 0.00

PR I S S |
50 100

TP delay [ns]



TVC(cbch)(130) TVC(cbch)(lSl) TVC(cbch)(132) TVC(cbch)(133)
T 1we+ud /25 AT rnunLrsoe+ud [ 25 A7 1 nun ssze+04 [ 25 AT rnuzouLe+ud [ 25
4000 - PO 4204+ 0.0 4000 - po 4205+ 0.0 4000 __ po 4208+ 0.0 4000 po 4223+ 0.0
pl -37.12+ 0.00 pl -35.74 % 0.00 : pl -36.04 i_0.00 pl -36.52+ 0.00

3000

- 3000 =1 3000 -1 3000 -

2000 1 2000 -1 2000 -1 2000

1000 — 1000 E 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,34 TVC(cbch) (1,35 TVC(cbch) (1,36 TVC(c, bch) (1,37

~ Ui b3be+u4 / 25 ~ 1 nur, r24e+04 25 =1 nuiL ysye+ud [ 25 -1 nur yyye+ud [ 25
4000w, pO 4198+ 0.0 4000 pO 4229+ 00 4000 4229 0.0 4000 e, pO 4235+ 00
p1 -37.1% 00 Pl -33.383+000 b 382+ 0.0 Pl -37.83+000

-1 3000~

3000 - -1 3000 -1 3000

2000~ . 2000 -1 2000~ - 2000

woo- C = 26.95 [ps/c ] 1000

-
- - - - <4

1 1 ™ 1 ] = 1 1= _1

0 50 00 0 50 100 0 0 50 100

- 1000~

—- 1000 [~ C

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ehch=(1,3,8) TVC(Ebe=(1,3,9) TVC(eh.eh=(1, 3, 10) TVC(ebe)=(1, 3, 11)
T nu.ziye+ud / 25 Trnug.23e+u4 1 25 Tnun194e+04 /25 T sure+u4 [ 25
4000 e, pO 4228+ 0.0 4000 e, pO 4246+ 0.0 4000 [, DO 4268+ 0.0 4000 fom, p0 4251+ 0.0
Pl 3523000 Pl -35.85:0.00 [ PL_ 3578+ 0.00 Pl 3546+ 0.00

-1 3000

3000 _ 3000 - 3000 .

2000 E 2000 — 2000 - 2000

1000 — 1000 T 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,312 TVC(cbch) (1,313 TVC(cbch) (1,3 14 TVC(C, bch) (1,3,15

2000 E - o, (2&e+\)4 125 - RRALIR uk?ue+\)4/25 2000 S )jlsvﬁ 125 1000 E AL W)ﬁeﬂm/gs
- PO 4192+ 0.0 4000 po, 4193+ 0.0 - PD 4192+ 0.3 - PO 4197+ 0.0
pl -33.33+ 0.00 -33.44+ 0.00 r pl -33.41+ 0.00 -34.01+ 0.00
3000~ T 3000 [ - s000- ] 3000 [ -
2000 - E 2000 |- - 2000 ] 2000 [ E
- 4 - — - [ ] 1000 - — 4
w0~ C = 30.01 [ps/ch] ™. ok C =29.90 [ps/ch] ™, wol- C = 29.93 [ps/ch] ™. ] C =29.40 [ps/ch]™,
. - N = [ , =y | -
PR S - P P - PR P - PR P -

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,4,0

K™ rz3e+U4 /25

F o po 4218+ 0.0
pl -38.24 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (14,4

T L4 r3e+04 / 25

== po 4201+ 0.0
pl -34.95+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(1, 4,8

Tnuig.4L/e+u4 /25
- pO 42411 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (1,4,12

T L, r94e+04 / 25
= po 4206+ 0.0
pl -34.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,1

AT 1L szze+ud [ 25
F po 4223+ 0.0
pl -38.81+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

=1 nuiL 780e+ud | 25
== po 4215+ 0.0
-35.9 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 4

~ 1 nuy.pb3e+ud / 25
- po 4268+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (1,4,13

T 1 nui gbae+ud / 25
— pO 4215+ 0.0
pl -35.83+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,4,2)

F - PO

K™ 1 nui roye+u4 /25

pl -37.95+ 0.00

4225+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (14,6

11u2,052e+04 [ 25

- pO 4220+ 0.0
[ pl -36.43+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 4, 10

0

T, ro4e+04 / 25
- DO 4288+ 0.0
L pl -37.32+ 0.00

TP delay [ns]

TVC(cbch) (1,4,14

T rnuiLyl4e+u4 [ 25
- pD 4218+ 0.0
L p1 -35.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

AT rnuiLbole+ud /25
=, po 4227+ 0.0
pl -37.61+ 0.00

TP delay [ns]

TVC(c,b ch) (1 4,7

= 1nuz012e+04 / 25
= po 4226+ 0.0
pl -35.69 % 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

1)
Tonan2.zze+04 1 25
- po 4276+ 0.0
-36.3 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (1,4,15

T nui rboe+ud / 25
- po 4210+ 0.0
p1 -36.11+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,5,0

A1 nuiLguoe+ud / 25
- po 4189+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(cbch) (1,54

T rnuiLbl/e+ud [ 25
o, pO 4222+ 0.0
p1 -35.94+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b ch) (1, 5 8

T 3.83e+u4 /25
po 4233+ 0.0
pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (1,5,12

T rnuzzore+u4 | 25
pO 4250+ 0.0
p1 -35.9+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,51

x- 1 i Sude+ud | 25
Foase po 4194+ 0.0
pL -35.39+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

-1 nui by3e+ud / 25
pO 4223+ 0.0
pL -36.02:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1 59

T nuiLz18e+U5 / 25
- pO 4257+ 0.0
p1 -36.12+ 0.00

TP delay [ns]

TVC(cbch) (1,5,13

T inuz zsae+ud [ 25
- pO 4246+ 0.0
pl -35.75+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (1,5,2)

A7 1 nui goe+ud / 25
Freee po 4199+ 0.0
o pl -35.63+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,56

“anu 1./e+04 /25
- pO 4240+ 0.0
[ pl -36.66 + 0.00

3000

TP delay [ns]

TVC(cbch) (1, 5 10

1000

0

©1nuig.444e+04 / 25
-, po 4272+ 0.0
- pl -36.88 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,5,14

T ro1e+04 / 25
- pD 4244+ 0.0
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TVC(CbCh) (1,13,0)

X~ 1y s34e+04 [ 25
4204+ 0.0
pl -37.47 + 0.00

TP delay

TVC(cbch) (1,134

[ns]

- B31e+ud / 25
4210+ 0.0
-35.18 + 0.00

P PO
p1
3000 ]
2000~ 7]
1000 C 7]
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (1,13,8)
~rnuzpu/e+ud / 25
4000 fm. pO 4194+ 0.0
p1 -34.21+ 0,00
3000 - ]
2000 = ]
oF C =29.23 [ps/ch]™,_ ]
1 1 -
b 50 100
TP delay [ns]

4000

3000

2000

1000

TVC(cbch) (1,13,12

Tz, sz8e+04 | 25
4251+ 0.0
pl -36.53+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,13,1)

11re+u4 /25
4203+ 0.0
-36.87 + 0.00

A1,

P PO

pl

TP delay [ns]

TVC(c, bch) (1,135

- 1nu 1bze+u4 / 25
4224+ 0.0
-35.57 + 0.00

TP delay [ns]

TVCEbeh)=( 1, 13,9

pO
pl

~ 1 nu. ysge+ud 25
4252+ 0.0
-34.72+ 0.00

[ C =28.81[ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (113,13

~ 1 nui ysse+ud / 25
4253+ 0.0
-36.88 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000
2000

1000

1000

TVC(CbCh) (1, 13 2)

Frue, po

Ty 1rse+u4 [ 25
4204+ 0.0
pl -36.76 + 0.00

TP delay

TVC(cbch) (1,136

- P°

p1

[ns]

T rnu237e+04 125
4233+ 0.0
-36.18 + 0.00

TP delay

[ns]

TVC(cbch) (1, 13 10)

pO

pl

T 1nug.1y3e+ud | 25
4264+ 0.0
-36.32+ 0.00

TP delay

[ns]

TVC(cbch) (1,13,14)

- pD

T rnuiLyole+u4 / 25
4237+ 0.0
pl -36.12+ 0.00

TP delay

[ns]

TVC(Cbch) (1,13,3)

3000

2000

1000

AT 1 nuig.ob/e+u4 [ 25
4000 =, po 4226+ 0.0
pL -36.25 + 0.00

TP delay [ns]

TVC(c, bch) (1,137

4000 G

3000

2000

w00l C = 27.52 [ps/ch ]

-1 nu.439e+04 / 25
pO 4238+ 0.0
p1 -36.34+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 13, 11

4000 [Gue.

3000

2000

1000

T nui fb3e+ud [ 25
po 4258+ 0.0
pl -35.88+ 0.00

TP delay [ns]

TVC(cbch) (1,13,15

4000 [,

3000

2000

1000

T nuiLysye+ud [ 25
pO 4256+ 0.0
p1 -37.05+ 0.00

TP delay [ns]



TVC(CbCh) (1, 14 0)

4000

3000

2000

1000

T rnuiLpbule+u4 / 25
pO 4200+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (1,144

4000

3000

2000

1000

T rnuiLay/e+ud [ 25
4177+ 0.0
-35.81+ 0.00

o 1
50 100
TP delay [ns]
TVC(CbCh) (1, 14 8) —
Trnug.zire+ud 5
4000, pO 4172+ 00
-33.18:+ 0.00
3000 1
2000 1
ol © = 30.14 [ps/ch] . 1
. -

0

1
50 100

TP delay [ns]

TVC(cbch) (1,14,12

4000

3000

2000

1000

~ 1L poze+u4 | 25
= po 4260+ 0.0
pl -36.88 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,14,1)

AT 1nuiLs/e+ud [ 25
P, po 4193+ 0.0
pl -36.11 + 0.00

TP delay [ns]

TVC(c, bch) (1,14,5

- 1o /e+u4 25
™, DU 4191+ 0.0
pl -37.11+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,9

-1 nui/ pUbe+u4 / 25
= po 4198+ 0.0
pl -35.04 + 0.00

TP delay [ns]

TVC(cbch) (114,13

Tinun L ode+ud [ 25
= pO 4253+ 0.0
pl -37.38+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(CbCh) (1,14,2)

K™ 1 nuiozoe+u4 /25
__- po 4212+ 0.0
o pl -36.67 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,146

T by /e+ud [ 25
4174+ 0.0
-36.5+ 0.0

TP delay [ns]

TVC(Ee b eh)=( 1, 14,10

a2 gyze+u4 | 25
= po 4223+ 0.0
L -34.81+ 0.00

TP delay [ns]

TVC(cbch) (114,14

1000

TrnuiLsL/e+u4 [ 25
- pD 4261+ 0.0
L pl -36.99 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1, 14 3)

T 1oe+ud [ 25
e, pO 4229+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(c, bch) (1,14,7

- 1nui /3pe+u4 / 25
- pO 4198+ 0.0
pL -36.17+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 14 11

-1 nui yyye+ud / 25
= po 4213+ 0.0
-34.26 + 0.00

[ C=29.19 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,14,15

T inai rsye+ud [ 25
= pO 4255+ 0.0
p1 -36.57 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 15 0)

T L sae+ud /25
pO 4205+ 0.0
pl -37.94  0.00

L=
100

TP delay [ns]

TVC(cbch) (1,154

- yz3e+ud | 25
pO 42254 0.0
p1 -36.46+ 0.00

- C -
5(‘) 10‘0 =
TP delay [ns]
TVC(cbch) (1, 15 8

T rnuz3u1e+u4 / 25
PD 4225+ 0.0
pl -35.22 + 0.00

TP delay [ns]

TVC(cbch) (1,15,12)

T Ly roe+u4 / 25
pO 4233+ 0.0
pl -35.37 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,15,1)

AT 1 nuiLyr4e+u4 [ 25
po 4207+ 0.0
pl -37.25+ 0.00

TP delay [ns]

TVC(cbch) (1,155

-1 nui robe+u4 / 25
pO 4228+ 0.0
pL -36.19+ 0.00

TP delay [ns]

TVC(c, bch) (1, 15 9

Tinunp.1ge+ud [ 25
po 4258+ 0.0
pl -36.33 + 0.00

TP delay [ns]

TVC(cbch) (115,13

TinuiLysie+ud / 25
pO 4229+ 0.0
p1 354+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(CbCh) (1,15,2)

A7 1 nuizuzye+ud /25
po 4228+ 0.0
pl -38.16 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (1,156

T i rzze+04 [ 25
pO 4230+ 0.0
pl -35.29+ 0.00

TP delay [ns]

TVC(cbch) (1, 15 10)

T 2. 88e+u4 /25
po 4272+ 0.0
pl -37.12+ 0.00

TP delay [ns]

TVC(cbch) (1,15,14)

~ 1 nuiLpuse+u4 / 25
pD 4236+ 0.0
pl -34.74 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,15,3)

AT 1 nuiLyose+ud [ 25
po 4217+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(c, bch) (1,157

- 1nui ule+u4 / 25
pO 4231+ 0.0
pL -35.27+ 0.00

TP delay [ns]

TVC(eheh)=(1, 15, 11

Tonanz1/e+04 /25
po 4290+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(cbch) (1,15,15

T inuiLgb/e+ud [ 25
pO 4235+ 0.0
p1 -35.2+ 0.0

TP delay [ns]



TVC(ehe)=(2,0,0) TVC(Ebe)=(2,0,1) TVC(ehe)=(2,0,2) TVC(ehe)=(2,0,3)
Tonan Ls4e+u4 /25 A7 1 nuiLysbe+u4 / 25 Tnazu4e+u4 [ 25 AT 1 nuiLb/se+U4 [ 25
A000R po 4205+ 0.0 4000, po 4220+ 0.0 4000, po 4213+ 0.0 4000 e, po 4207+ 0.0
Pl -37.54%0.00 pl_ -37.38%0.00 L Pl -36.44% 0.00 Pl -36.22% 0.00

3000

1 3000 =1 3000 -1 3000 -1

2000 1 2000 = 2000 =1 2000

1000 7 1000 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,0,4 TVC(cbch) (2,0, TVC(cbch) (2,0,6 TVC(c, bch) (2,0,

“ g (?U49+05 125 T b)ElE*U5 125 ~ 2d$e+U5 125 T nar b)USE+05/25
4000 pO 4191% 0.0 40008 DU 4194+ 0.0 4000 [, pO 4212+ 0.0 4000 fe pO 4211+ 0.0
PL_ 3469+ 000 -34.39+ 0.00 [ PL_ 3531+ 0.00 L 3456+ 0.00
3000 4 3000 - a000 |- ] 3000 ]
2000 B 2000 B 2000 ' ' 2000 1
] L i 1000 = 4 woof = ]
1000 w0 C = 29.08 [ps/ch] : C =28.32 [ps/ch ] C =28.93 [ps/ch] .
1 i 1 i 1 1 -
50 00 0 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2 0,8 TVC(cbch) (2 0,9 TVC(cbch) (2, 0 10 TVC(cbch) (2, O

4000 T z.Zoe+u4 /25 4000 ~ 1 nug vbge+ud / 25 4000 1 nuzbuge+u4 | 25 T o, uue+u4/25
- PD 4187+ 0.0 = DO 4199+ 0.0 - DO 4226+ 0.0 4000 pom, pO 4235+ 0.0
pl -34.94 + 0.00 pl -35.77 + 0.00 r pl -36.29 + 0.00 pl -36.06 + 0.00

- 3000

3000 - 3000 =1 3000 -1

2000 g 2000 E 2000 - 2000

1000 ] 1000 E 1000 = 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(ZOl ) TVC(cbch)(2013) TVC(CbCh)(ZOl ) TVC(cbch)(2015)
~rnuiLgy4e+u4 / 25 T nuiLysae+ud [ 25 ~ 1z 140e+04 / 25 T inuizzzse+ud [ 25
4000 o, pO 4205+ 0.0 4000 pO 4221£ 00 4000, PD 4218+ 0.0 4000 fo pO 4205 0.0
pl -34.32+ 0.00 pl -35.61+ 0.00 F pl -35.04 + 0.00 pl -34.52+ 0.00

- 3000

3000~ -1 3000 . 3000 .

2000 - 2000 N 2000 - 2000

1000 N 1000 = 1000

1000~ C =29.13 [pS/Ch]

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,0

A7 1 nuis syae+u4 / 25
p— po 4220+ 0.0
p1 -40.21+ 0.00

()
50 100

TP delay [ns]

TVC(cbch) (21,4

- i, Bobe+04 | 25
- pO 4178+ 0.0
pl -35.26+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 1,8

T4z (e+04 | 25
po 4216+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (21,12

T rnuiLguLe+u4 / 25
= po 4205+ 0.0
pl -34.92+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,1

AT nus.ysse+ud [ 25
[ po 4215+ 0.0
p1 -39+ 0.0

[ C =25.64 [ps/c ]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 1,5

=1 Ui Yooe+u4 / 25
P, pO 4193+ 0.0
pL -35.62:+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 1

~ 1 nug p3ze+u4 / 25
- pO 4243+ 0.0
p1 -37.04+ 0.00

TP delay [ns]

TVC(cbch) (21,13

1 nuiz.ybobe+ud / 25
- pO 4227+ 0.0
pl -36.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,1,2)

TP delay [ns]

TVC(cbch) (2,1,6

A7 1 nug.guse+ud / 25
Fuu po 4220+ 0.0
p1 37.8+ 00

I C =26.45 [ps/c ]

L 3 1

-]

| L=
50 100

1L Yo re+u4 [ 25

P, po 4198+ 0.0
[ pl -35.74+ 0.00

TP delay [ns]

TVC(ebeh)=(2 1, 10

1000

Tz zose+u4 | 25
-, po 4242+ 0.0
- pl -35.82+ 0.00

TP delay [ns]

TVC(cbch) (21,14

Tz 193e+04 | 25
n pD 4222+ 0.0
[ p1 -36.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3

AT 1 nus.ysoe+ud [ 25
Facee po 4228+ 0.0
pl -37.83+ 0.00

TP delay [ns]

TVC(c,b ch) (2 1,7

-1 nuz.0ule+ud / 25
E pO 4198+ 0.0
pL -35.66+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (2, 1

T ‘Jbbe+l}4/25
- pO 4247+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (21,15

Tinuiy4/e+u4 /25
- pO 4204+ 0.0
p1 -35.85+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,0)

A1,

' po
pl

r40e+U4 [ 25
4175+ 0.0
-35+ 0.0

TP delay [ns]

TVC(cbch) (22,4

P, PO
pL

- ruz013e+ud / 25
4197+ 0.0
-37.21+ 0.00

TP delay [ns]

TVC(ebeh)=(2,2,8

1 nuis.0ube+u4 / 25
4190+ 0.0
-35.18 + 0.00

TP delay [ns]

TVC(cbch) (2,212

e, po
p1

Tz 1r4e+04 /25
4236+ 0.0
-37.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,1)

bsve+u4 / 25
4187+ 0.0
-36.17 + 0.00

FSALTR

=, po

pl

TP delay [ns]

TVC(c,b ch) (2 2,5

- 1nuz.0aze+u4 / 25
4182+ 0.0
-36.13+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 2

pO
pl

T nu. 13ze+04 / 25
4234+ 0.0
-35.45+ 0.00

TP delay [ns]

TVC(cbch) (2,213

e, pO
p1

T inuz1nse+ud [ 25
4221+ 0.0
-36.18 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,2,2)

™, po

A7 1 nun suoe+u4 / 25
4192+ 0.0
p1 -36.64 + 0.00

pD

! L
50 100
TP delay [ns]
TVC(cbch) (2,2,6)
— T a3 rge+u4 | 25
4197+ 0.0
-36.98 + 0.00

p1

TP delay

TVC(ebeh)=(2,2, 10

= 90

[ns]

Tnug341e+04 / 25
4227+ 0.0
pl -35.98 + 0.00

TP delay

TVC(cbch) (2,214

[ns]

1 nuiz.a49e+04 | 25
4227+ 0.0
pl -36.89 + 0.00

PR IR SRR |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,3)

Bsoze+u4 | 25
4204+ 0.0
-37.53+ 0.00

A

po
pL

TP delay [ns]

TVC(c,b ch) (2 2,7

pO
pl

-1 nu Zobe+u4 / 25
4200+ 0.0
-36.87 + 0.00

50 100

TP delay [ns]

TVC(c,b ch) (2, 2

= pO

T 51=e+u4/25
4219+ 0.0
-35.32+ 0.00

pl

TP delay [ns]

TVC(C, bch) (2,215

T nuiz z4ne+u4 / 25
4222+ 0.0
-35.64+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0)

A7 1 nuip4ve+u4 /25
4205+ 0.0
-36.61+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (23,4

T i 713e+04 / 25
e, pO 4207+ 0.0
pl -36.52:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 3,8

T, (z3e+04 | 25
= po 4225+ 0.0
pl -36.93+ 0.00

TP delay [ns]

TVC(cbch) (2,312

~rnuiLgy4e+u4 / 25
= po 4227+ 0.0
pl -34.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,31

A7 1 nuiLbose+ud [ 25
o=, po 4213+ 0.0
p1 -36.42+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,5

=11 buge+u4 / 25
e, pO 4196+ 0.0
pL -35.58+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,9

T nu.zyse+ud / 25
= po 4256+ 0.0
p1 -37.48 + 0.00

TP delay [ns]

TVC(cbch) (2,313

T inui o3se+ud / 25
= pO 4226+ 0.0
pl -34.73+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (2,3,2)

A~ 1 nuioyze+u4 /25
- po 4209+ 0.0
o pl -36.13+ 0.00

3000

TP delay [ns]

TVC(cbch) (23,6

T b/ re+u4 [ 25
e pO 4217+ 0.0
[ pl -35.85+ 0.00

3000

TP delay [ns]

TVC(cbch) (2, 3 10

T nuzgole+ud [ 25
. po 4268+ 0.0
L pl -36.14 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,3 14

T, rgve+u4 [ 25
. pD 4225+ 0.0
L pl -34.66 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,33

x- 1 L bade+U4 | 25
Pe=, po 4207+ 0.0
pL -35.83+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,7

=1 nui bobe+u4d [ 25
- pO 4196+ 0.0
p1 -35.04+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

AN Ubﬂe+l}4/25
- po 4257+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(C, bch) (2,315

Tinai71ve+u4 /25
- po 4228+ 0.0
p1 -35.93+ 0.00

TP delay [ns]



TVC(CbCh) (2,4,0) TVC(CbCh) (2,4,1) TVC(CbCh) (2,4,2) TVC(CbCh) (2,4,3)
K 1 duse 04 ] 25 Kbz e+Ud ] 25 X rbLier04 ] 25 X 1 dose+ud | 25
4000 [, po 4203 0.0 4000 [, po 4189+ 0.0 4000 e, po 4197 0.0 4000 fe, po 4219+ 0.0
Pl -34.92+ 0.00 Pl -34.46+ 0.00 [ Pl -35.28% 0.00 pl -36.3+ 0.0

- 3000

3000 - 3000 =1 3000

2000 E 2000 - 2000 - 2000

1000 - 1000 4 1000 1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (24,4 TVC(cbch) (2.4, TVC(cbch) (24,6 TVC(c, bch) (2,47

“ g (?A‘:)eﬂ)d 125 T rnar t?bye+04/25 AL R ﬁ):)be+U4 125 Sornan 2 ge+ud [ 25
4000 pO 4208+ 0.0 4000 e, pO 4217+ 0.0 4000 e, pO 4228+ 0.0 4000 e, pO 42251+ 0.0
Pl 3578+ 0.00 Pl -35.83% 0.00 3 pl -36.75+ 0.00 Pl -36.27%0.00
3000 [ B 3000 — 3000~ — 3000 B
2000~ E 2000 E 2000 ] 2000 B
1000 C ] 1000 1 wool- C = 27.21 [ps/ch 7 wool- C = 27.57 [ps/ch ]
I 2 I ) I -
50 00 0 50 T00 0 5 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,4,8 TVC(cbch) (2,4,9 TVC(cbch) (2,4,10 TVC(c, bch) (2,4,

Tnuprse+ud /25 -y 1ule+u4 [ 25 T nug.485e+04 / 25 T, 4a9e+u4/25
4000 pO 4244+ 0.0 4000 4258+ 0.0 4000 [, DO 4275+ 0.0 4000 e, p0 4279+ 0.0
pl 3827000 -37.31% 0.00 [ PL_ -37.18% 0.00 Pl -37.53% 0.00

-1 3000

3000~ 1 3000 -1 3000

2000~ -1 2000 -1 2000 -1 2000

1000 [~ -1 1000

-1 1000 - 1000

I I [
% 50 00 0

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(24l ) TVC(cbch)(2413) TVC(cbch)(24l ) TVC(cbch)(2415)
T rnuiLyure+u4 / 25 T inai rsae+u4 / 25 ~ 1 nuiLgo4e+U4 / 25 TinuiLysie+ud /25
4000 [m, pO 4244+ 0.0 4000 4229+ 0.0 4000 PD 4232+ 0.0 4000 o, pO 4236+ 0.0
-34.58 + 0.00 -35.01+ 0.00 I pl -35.08 + 0.00 pl 35+ 0.0

- 3000

3000~ _ 3000 - 3000 -1

2000 [~ | 2000 -1 2000 -1 2000

-1 1000

10r C =28.92 [ps/ch]\, 7 1000 . y 1000 .
'5'0""160'- Illlgldlllllﬂlol-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,0

AT inuisire+u4 /25
.. po 4214+ 0.0
pl -35.78+ 0.00

TP delay [ns]

TVC(cbch) (2,54

-4 1e+04 ] 25
P, pO 4187+ 0.0
pl -36.33+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 5,8

[ C =29.04 [ps/ch]

©1nuiz,uspe+u4 / 25
= po 4213+ 0.0
p1 -34.44 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,5,12

T szse+u4 [ 25
4231+ 0.0
-34.8+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,51

X 1L dzie+ud | 25
o=, po 4208+ 0.0
pL -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (2 55

-1 nui 38Ye+u4 / 25
- pO 4198+ 0.0
pL -36.94 + 0.00

TP delay [ns]

TVC(c,b ch) (2 59

~ 1 nug.z44e+04 / 25
= po 4238+ 0.0
p1 -34.44 + 0.00

[ C =29.04 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (2,5,13

Tinaizize+ud [ 25
P 4240 0.0
-33.96 + 0.00

[ C =29.44 [ps/ch] ]

PR U S S |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,5,2)

TP delay [ns]

TVC(cbch) (2,56

T L44e+04 /25
_- pO 4220+ 0.0
o pl -36.52+ 0.00

3000

© i, 734e+04 [ 25
- pO 4201% 0.0
3 pl -35.95+ 0.00

TP delay [ns]

TVC(cbch) (2, 5 10

T rnuiLYee+u4 [ 25
-, po 4250+ 0.0
- pl -34.93 + 0.00

TP delay [ns]

TVC(cbch) (2,514

~ 1L 3use+u4 / 25
- pD 4246+ 0.0
L pl -34.88+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,3

AT 1 nuiLsyoe+ud [ 25
- po 4220+ 0.0
p1 -36.7 + 0.0

TP delay [ns]

TVC(c,b ch) (2 57

-1 nui 4y1e+u4 / 25
- pO 4209+ 0.0
pL -36.11 0.00

TP delay [ns]

TVC(c,b ch) (2, 5

T ﬁbée+l}4/25
- po 4255+ 0.0
p1 -34.41+ 0.00

[ C =29.06 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (2,5,15

T nai ssze+ud [ 25
= po 4233+ 0.0
p1 -34.64 + 0.00

TP delay [ns]



TVC(cbch) (2,6,0)

4000

3000

2000

1000

AT 1nuiLs10e+04 /25
4197+ 0.0
-35.21+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (26,4

4000

3000

2000

1000

- 1L a38e+04 / 25
[, pO 4259+ 0.0
p1 -36+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (2 6, 8

4000

3000

2000

1000

T naiL, 74pe+u4 | 25
b pO 4246+ 0.0
p1 -34.64 + 0.00

[ C =28.87 [ps/ch] ]

0

1
50 100

TP delay [ns]

TVC(cbch) (2,6,12

4000

3000

2000

1000

TrnuiLzge+u4 | 25
4227+ 0.0
-32.82+ 0.00

[ C =30.47 [ps/ch] ™. ]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1

AT rnuzuize+ud [ 25
Fraee po 4206+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(c,b ch) (2 6,5

- nu 18ze+04 / 25
[P, DO 4262+ 0.0
-34.78 + 0.00

[ C =28.75[ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 6,9

T nug.zzze+u4 [ 25
- pO 4264+ 0.0
-35.6 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (2,6,13

Tinui ss1e+ud [ 25
P 4229+ 0.0
-34.55+ 0.00

[ C =28.94 [ps/ch] ]

PR U S S |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,6,2)

A7 1 nuz usoe+u4 / 25
_l_ po 4214+ 0.0
- pl -36.02 + 0.00

3000

TP delay [ns]

TVC(cbch) (26,6

-1 3u/e+u4 / 25
[, po 4257+ 0.0
[ 353+ 0.0

- C = 28.33 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (2, 6 10

T roe+u4 [ 25
- po 4290+ 0.0
[ pl -36.37 % 0.00

TP delay [ns]

TVC(cbch) (2,614

T 14se+ud /25
__ pD 4233+ 0.0
L pl -35.17 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,3

AT rnuaiLyzre+ud [ 25
P e po 4220+ 0.0
pl -35.53+ 0.00

[ C=28.15[ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (2 6,7

-1 nui 2ype+u4 / 25
pO 4261+ 0.0
p1 -34.73+ 0.00

[ C =28.79 [ps/ch] ]

L
50 100
TP delay [ns]

TVC(c,b ch) (2, 6

T 94/e+u4/25
- po 4289+ 0.0
p1 -35.73+ 0.00

TP delay [ns]

TVC(C, bch) (2,6,15

T inai szye+ud [ 25
P 4242+ 0.0
-34.74+ 0.00

[ C =28.78 [ps/ch] ]

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,0)

A7 nui p4se+04 /25
4199+ 0.0
-36.11 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (27,4

- 1nuiLa83e+04 / 25
- pO 4186+ 0.0
p1 -34.78:+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(2,7,8

T rnuzysse+u4 | 25
= po 4210+ 0.0
pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (2,7,12

©rnuiLyyse+u4 / 25
- po 4220+ 0.0
pl -36.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,71

X- 1w 7yae+U4 | 25
P po 4206 + 0.0
pL -36.57 + 0.00

TP delay [ns]

TVC(c,b ch) (2 7,5

-1 nui bzye+u4 [ 25
e, pO 4188+ 0.0
pL -34.81% 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (2, 7

-1 nu.puve+ud / 25
= po 4222+ 0.0
p1 -34.66 + 0.00

TP delay [ns]

TVC(cbch) (2,7,13

Tinai zse+ud [ 25
— 4211+ 0.0
-35.51+ 0.00

PR U S S |
50 100

TP delay [ns]

4000

2000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,7,2)

1000

A~ 1 nuiL bboe+ud / 25
__— po 4218+ 0.0
o pl -37.62+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,7,6

- L8 ze+04 | 25
3 pO 4217+ 0.0
L pl -35.34 + 0.00

TP delay [ns]

TVC(ebeh)=(2, 7, 10

T, r53e+04 [ 25
= po 4223+ 0.0
o pl -35.32+ 0.00

TP delay [ns]

TVC(cbch) (27,14

~ 1 nuiLbove+U4 / 25
= pD 4218+ 0.0
L p1 -35.92+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,3

AT 1 nuiLbuse+ud [ 25
- po 4221+ 0.0
p1 -36.46 + 0.00

TP delay [ns]

TVC(c,b ch) (2 7,7

-1 nui y1ve+u4d / 25
- pO 4212+ 0.0
p1 -35.24+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 7

T za=e+u4/25
e pO 4241% 0.0
pl -35.38+ 0.00

TP delay [ns]

TVC(C, bch) (2,7,15

T nai ssze+ud [ 25
- 4226+ 0.0
-36.31+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,0

AT inuizyre+Vd /25
P s, po 4214+ 0.0
pl -35.23+ 0.00

TP delay [ns]

TVC(cbch) (28,4

- i zog4e+u4 | 25
pO 4228+ 0.0
p1 -34.61: 0.00

[ C =28.89 [ps/ch] ]

50 10‘0
TP delay [ns]

TVC(cbch) (2 8,8

1L 4o3e+04 / 25
po 4230+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (2,812

pO
p1

T 1o/e+ud /25
4265+ 0.0
-36.06 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,81

AT 1L sose+ud [ 25
- po 4230+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(c,b ch) (2 8,5

-1 nui Zoye+u4 / 25
4225+ 0.0
-33.8+ 0.0

C =29.59 [ps/ch] 7]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 8,9

- nui 1gae+u4 25
po 4237+ 0.0
pl -35.31+ 0.00

1
100

TP delay [ns]

TVC(cbch) (2,813

T nui so0e+ud / 25
4246+ 0.0
-36.21+ 0.00

il
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,8,2)

K™ 1nuinsie+ud /25
po 4234+ 0.0
pl -35.25+ 0.00

- C = 28.37 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (28,6

- C = 29.20 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (2, 8 10

T z4/e+04 /25
- po 4254+ 0.0
- pl -34.85+ 0.00

T nun14ee+04 /25
- pO 4243+ 0.0
L pl -34.25+ 0.00

TP delay [ns]

TVC(cbch) (2,8, 14

K™ rnun g

PO
pl

Sze+ud | 25
4264+ 0.0
-36.11+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,3

AT 1 nuiLzose+ud [ 25
o po 4223+ 0.0
pl -33.76 + 0.00

[ C =29.62 [ps/ch] ]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 8,7

-1 b3be+u4 / 25
- pO 4257+ 0.0
p1 -35.48+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 8

Ty ::ue+u4/25
po 4277+ 0.0
-35.66 + 0.00

p1

1
100

50
TP delay [ns]
TVC(c,b ch) (2, 8 15)
-1 nui bobe+u4d / 25
o, po 4273+ 0.0
-37.4+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,0

A~ 1 nui os1e+u4 [ 25
= po 4155+ 0.0
p1 -35.13+ 0.00

TP delay [ns]

TVC(cbch) (29,4

- Ui Bae+u4 [ 25
== po 4201+ 0.0
pl -37.33% 0.00

TP delay [ns]

TVC(cbch) (2 9,8

-1 50ye+Ua 25
- pD 4204+ 0.0
p1 -35.47 £ 0.00

TP delay [ns]

TVC(cbch) (2,9,12

T rnuizyole+ud / 25
= po 4201+ 0.0
pl -36.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,91

X 1L 75 (e+U4 | 25
. po 4170+ 0.0
pL -37.16+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,5

= rnuz113e+u4 /25
po 4206+ 0.0
pl -37.97 + 0.00

1=
50 100
TP delay [ns]

TVC(c,b ch) (2 9,9

<1 nuiL guge+us / 25
4217+ 0.0
-35.2+ 0.0

1
50 00

TP delay [ns]

TVC(c,b Ch) (2, 9 13

T nai rs0e+ud / 25
= pO 4196+ 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (2,9,2)

A~ 1 nui ogse+u4 | 25
- po 4177+ 0.0
L pl -34.99 + 0.00

3000

TP delay [ns]

TVC(cbch) (29,6

T Z1se+u4 [ 25
- pO 4200+ 0.0
[ pl -36.02+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(2, 9, 10

- 1 nuis 508e+U4 | 25
F- pO 4237+ 0.0
[ p1 -35.23+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,914

-1 i, (5ye+u4 [ 25
= pD 4206+ 0.0
L p1 -36.94 £ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,3

A~ 1 nuiLbzye+ud [ 25
- po 4160+ 0.0
pL -34.79:+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,7

= inu2 3e+ud [ 25
po 4229+ 0.0
p1 -37.95+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (2, 9

AN bUie+U4/25
4234+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(c,b ch) (2, 9 15

- roze+ud [ 25
= pO 4201% 0.0
p1 -36.18 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 10 0)

T rnuiLog1e+U4 /25
4165+ 0.0
-35.83+ 0.00

TP delay [ns]

TVC(cbch) (2,104

- 1L b04e+04 / 25
4195+ 0.0
-35.03+ 0.00

- pO
pl
e 4
% T
TP delay [ns]
TVC(cbch) (2, 10 8
e pD

1 nuiz.g4ve+04 | 25
4218+ 0.0
-36.18 + 0.00

TP delay [ns]

TVC(cbch) (2,10,12

- po
p1

Tz 1ule+u4 / 25
4238+ 0.0
-35.49+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,10,1)

. PO

AT rnunLsroe+ud [ 25
4166+ 0.0
-34.63+ 0.00

pl

TP delay [ns]

TVC(c, bch) (2,10,5

pO
pl

=1 bape+u4 [ 25
4195+ 0.0
-34.34 % 0.00

TP delay [ns]

TVC(c, bch) (2,10,9

X~ g

== po
pl

44e+u4 25
4242+ 0.0
-35.51+ 0.00

TP delay [ns]

TVC(cbch) (2,10,13

ATz

e, po
p1

vie+ud /25
4233+ 0.0
-36.26 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,10,2)

F=. po

A7 1 nun ouse+u4 / 25
4191+ 0.0
pl -36.68 + 0.00

TP delay

TVC(cbch) (2.10,6

- P°

[ns]

© i bb3e+ud [ 25
4228+ 0.0
pl -35.87 + 0.00

TP delay

[ns]

TVC(epeh)=(2, 10, 10)

- b

T 1nuig1yze+u4 / 25
4273+ 0.0
p1 -36.46  0.00

TP delay

[ns]

TVC(cbch) (2.10,14)

- pD

T L yise+u4 / 25
4234+ 0.0
pl -35.54 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2, 10 3)

i

e pO

o b/52/25
4194+ 0.0
pl -36.02+ 0.00

TP delay

TVC(c, bch) (2,10,7

E. pO

[ns]

-1 i goge+u4 / 25
4225+ 0.0
pl -35.72+ 0.00

TP delay

TVC(ehch)=(2, 10, 11

= pO

[ns]

T nuz.a30e+u4 [ 25
4278+ 0.0
p1 -37.37 + 0.00

TP delay

TVC(cbch) (210,15

[ns]

T nai rsse+ud [ 25
4230+ 0.0
-34.46 + 0.00

[ C =29.02 [ps/ch]

PR I S S |
50 100

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2,11,0)

A7 1 nui ouye+u4 / 25
.. po 4175+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (2,11,4

-1 nuiLa3ze+04 [ 25
e pO 4186+ 0.0
p1 -34.66+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(2, 11,8

a 3e+04 /25
- pD 4212 0.0
p1 -36.51 0.00

TP delay [ns]

TVC(cbch) (2,11, 12

X~ 1 yooe+u4 [ 25
= po 4232+ 0.0
pl -35.34+ 0.00

TP delay [ns]

TVC(Cbch) (2,11,1)

3000

2000

1000

AT 1 nuiLb/oe+u4 [ 25
4000 e po 4190+ 0.0
p1 -36.03 + 0.00

TP delay [ns]

TVC(cbch) (2,11,5

4000 S

3000

2000

1000

- i 3/3e+04 / 25
pO 4193 0.0
pL -35.55+ 0.00

TP delay [ns]

TVC(eh.eh)=(2, 11, 9

4000 [

3000

2000

1000

T nue.3/3e+u4 / 25
po 4230+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(cbch) (211,13

4000 [

3000 -

2000

1000 [~

Tinai o3e+ud [ 25
pO 4232+ 0.0
pl -35.18 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,11, 2)

1000

A7 1 nun4sye+u4 / 25
P, po 4199+ 0.0
L pl -36.17 + 0.00

TP delay [ns]

TVC(cbch) (2,11,6

=1 nur boye+ud [ 25
e pO 4202+ 0.0
[ pl -35.74+ 0.00

TP delay [ns]

TVC(e.b.ch)=(2, 11, 10

X~ 11wz byze+u4 [ 25
- po 4241+ 0.0
L pl -34.82+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,11, 14

X~ 1L pyre+ud [ 25
-, po 4241+ 0.0
L pl -36.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2, 11 3)

© 1 nuiLb4ge+ud | 25
- pO 4200+ 0.0
p1 -35.77 + 0.00

TP delay [ns]

TVC(cbch) (2,11,7

- nui b14e+04 / 25
- pO 4212+ 0.0
pL -35.67+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (2, 11 11

-1 nuiz 1uge+u4 / 25
= po 4227+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(cbch) (211,15

T nai roae+u4 /25
= pO 4235+ 0.0
p1 -35.65+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 12 0)

T ssse+U4 [ 25
.. pO 4196+ 0.0
pl -37.07 + 0.00

TP delay [ns]

TVC(cbch) (2,124

-1 uiL bobe+ud / 25
- pO 4219+ 0.0
p1 -36.14 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2,128

T 1nuzpose+ud | 25
= pO 4201+ 0.0
p1 -34.67 + 0.00

TP delay [ns]

TVC(cbch) (212,12

~ 1L pobe+u4 / 25
= po 4245+ 0.0
p1 -36+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,12,1)

F PO

AT 1nuiLy/e+u4 [ 25
4206+ 0.0
pl -38.03+ 0.00

TP delay

TVC(cbch) (2,125

F- pO

[ns]

-1 nui robe+u4 / 25
4229+ 0.0
pl -36.52 + 0.00

TP delay

TVC(c,b ch) (2, 12

e, po

[ns]

~ 1 nug.ygse+ud 25
4227+ 0.0
pl -35.57 + 0.00

TP delay

TVC(cbch) (212,13

e, pO
p1

[ns]

Tinuibize+ud [ 25
4226+ 0.0
-34.7+ 0.0

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,12,2)

TP delay [ns]

TVC(cbch) (2.12,6

AT 1nui/1se+04 /25
_- po 4217+ 0.0
o pl -37.28+ 0.00

3000

-1 nuiL bBbe+u4 / 25
- pO 4235+ 0.0
[ pl -36.49 + 0.00

TP delay [ns]

TVC(e b eh)=(2, 12, 10

T rnuizziie+ud | 25
-, po 4233+ 0.0
- pl -34.95+ 0.00

TP delay [ns]

TVC(cbch) (212,14

TrnuiLprze+u4 [ 25
. pD 4242+ 0.0
L pl -35.69+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,12,3)

AT 1L sose+u4 [ 25
po 4216+ 0.0
pl -36.45+ 0.00

TP delay [ns]

TVC(c, bch) (2,12,7

- i grze+u4 /25
pO 4265+ 0.0
p1 -37.45+ 0.00

50 100

TP delay [ns]

TVC(eb.eh)=(2, 12, 11)

= pO

Tonuan z1e+u4/25
4237+ 0.0
p1 -34.99+ 0.00

TP delay [ns]

TVC(cbch) (212,15

Tinan g oze+ud [ 25
4231+ 0.0
p1 -34.98 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 13 0)

T, rsoe+u4 [ 25
.. pO 4202+ 0.0
pl -36.63+ 0.00

TP delay [ns]

TVC(cbch) (2,134

- 1L yobe+ud / 25
pO 4238+ 0.0
pl -39.86+ 0.00

TP delay [ns]

TVC(cbch) (2, 13 8

T Ly rze+u4 | 25
= po 4202+ 0.0
pl -35.86+ 0.00

TP delay [ns]

TVC(cbch) (213,12

T L yise+u4 / 25
= po 4228+ 0.0
pl -36.54 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2, 13 1)

= po

1 L s4pe+ud / 25

pl -36.36 + 0.00

4220+ 0.0

TP delay [ns]

TVC(c, bch) (2,135

1 nuiLgrye+u4 | 25

- pO 4241+ 0.0
pL -39.34+ 0.00

TP delay [ns]

TVCEben)=(2 13,9

1 1u boye+u4 | 25

- pO 4226+ 0.0
pL -34.68+ 0.00

TP delay [ns]

TVC(cbch) (213,13

i, (o5e+U4 [ 25

= po 4223+ 0.0
pl -35.89+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

2000

1000

TVC(CbCh) (2,13,2)

TP delay [ns]

TVC(cbch) (2,136

=1 nuiLyspe+ud / 25
- po 4252+ 0.0
[ pl -39.46 + 0.00

AT 1nuir3oe+04 /25
o= po 4210+ 0.0
- pl -36.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,13,10

T zode+u4 | 25
-, po 4238+ 0.0
- pl -35.25+ 0.00

TP delay [ns]

TVC(cbch) (2,13, 14

T/ rve+u4 [ 25
- pD 4226+ 0.0
[ p1 -35.79+ 0.00

3000

TP delay [ns]

4000 [u

3000

2000

1000

4000 @ pO

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,13,3)

po 4224+ 0.0
pL -36.84 + 0.00

AT rnuiLsloe+ud [ 25

TP delay [ns]

TVC(c, bch) (2,137

pl -38.96 + 0.00

-1 nuz.uzbe+ud [ 25
4254+ 0.0

TP delay [ns]

TVC(ehoh)=(2, 13, 11

e pO 4239+ 0.0
pL -36.18+ 0.00

1 nuz1u1e+u4 / 25

TP delay [ns]

TVC(cbch) (2,13,15

F pO 4227+ 0.0
pL -35.5+ 0.0

1 nuiLyyze+ud | 25

TP delay [ns]



TVC(CbCh) (2, 14 0)

4000

3000

2000

1000

T rnuaLuLse+u4 /25
pee,. pO 4172+ 0.0
pl -35.52 0.00

TP delay [ns]

TVC(cbch) (2,144

4000

3000

2000

1000

- 1uiL461e+04 | 25
™, pO 4181+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (2, 14 8

4000

3000

2000

1000

0

T 1nuig.yuze+u4 | 25
4225+ 0.0
-37.31+ 0.00

0

TP delay [ns]

TVC(cbch) (214,12

4000

3000

2000

1000

Ty oe+ud /25
= po 4212+ 0.0
pl -35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,14,1)

K™ 1 nuiL410e+ud [ 25
pese,, po 4176+ 0.0
pl -35.88+ 0.00

TP delay [ns]

TVC(c, bch) (2,145

-1 nui buze+u4 / 25
e pO 4210 0.0
pL -37.18 0.00

TP delay [ns]

TVC(c, bch) (2,14,9

Tonan s Zoe+u4 [ 25
e pO 4249+ 0.0
pl -37.23+ 0.00

TP delay [ns]

TVC(cbch) (214,13

S rnu 1Lge+ud /25
o, pO 4212+ 0.0
pl -36.96+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (2,14,2)

A7 1 nui4s0e+04 / 25
o=, po 4176+ 0.0
- pl -35.67 + 0.00

TP delay [ns]

TVC(cbch) (2.14,6

“rnuiL r1oe+u4 / 25
- pO 4215+ 0.0
3 pl -36.42+ 0.00

TP delay [ns]

TVC(e b eh)=(2, 14, 10

1000

0

T a3 rbe+ud | 25
=, po 4259+ 0.0
- pl -37.11+ 0.00

TP delay [ns]

TVC(cbch) (214,14

1 nuiLpoye+ud / 25
= pD 4210+ 0.0
F -36.11 + 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,14,3)

X- 1L s ae+U4 | 25
pe=, po 4180+ 0.0
pL -34.64+ 0.00

TP delay [ns]

TVC(c, bch) (2,14,7

- nun B3ze+u4 / 25
- pO 4212+ 0.0
pL -35.99+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (2, 14 11

-1 nuiys3e+ud [ 25
= po 4262+ 0.0
p1 -37.44.+ 0.00

TP delay [ns]

TVC(cbch) (2,14,15

T nui p4ae+04 / 25
- pO 4211+ 0.0
pl -35.77 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 15 0)

T, zoe+u4 [ 25
P pO 4173+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(cbch) (2,154

-1 i bBbe+u4 / 25
- pO 4188+ 0.0
pl -35.55+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2, 15 8

T, r3re+04 /25
- po 4210+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (2,15,12

T L, rype+u4 / 25
= po 4217+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(chh) (2,15,1)

3000

2000

1000

A 11U 4ove+ud [ 25
4000 e po 4184+ 0.0
pl -35.44 + 0.00

TP delay [ns]

TVC(cbch) (2,155

4000 R

3000

2000

1000

-1 nui 4bze+04 / 25
pO 4185+ 0.0
pL -34.57+ 0.00

TP delay [ns]

TVC(ebeh)=(2 15,9

4000 [

3000

2000

1000

T nup.18be+U4 / 25
po 4236+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (215,13

4000 [

3000 -

2000

1000 [~

T nuiLpb/e+ud [ 25
pO 4207+ 0.0
-34.78 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

2000

1000

TVC(CbCh) (2,15,2)

K™ 1 nuiosye+ud /25
P po 4189+ 0.0
L pl -35.48 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,156

T b/1e+u4 / 25
- pO 4198+ 0.0
3 pl -35.74+ 0.00

TP delay [ns]

TVC(cbch) (2, 15 10

1000

0

T nuzpb/e+ud [ 25
e, po 4265+ 0.0
F pl -37.33+ 0.00

TP delay [ns]

TVC(cbch) (2,15, 14

T, roze+u4 [ 25
- pD 4222+ 0.0
L pl -35.29+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(Cbch) (2,15,3)

A~ 1 nuiLbbae+u4 / 25
- po 4196 + 0.0
p1 -35.51+ 0.00

TP delay [ns]

TVC(c, bch) (2,157

-1 nui gloe+u4 / 25
- pO 4210+ 0.0
pL -35.96+ 0.00

50 1(;0
TP delay [ns]

TVC(ehch)=(2, 15, 11

-1 nuiz.yuze+ud [ 25
= po 4237+ 0.0
p1 -35.45 + 0.00

TP delay [ns]

TVC(cbch) (2,15,15

-1 nui soge+ud / 25
- po 4210+ 0.0
p1 -33.17+ 0.00

10 C = 30.15 [ps/ch] ™.,

PR
50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,0)

A7 1 nui ygye+u4 / 25
po 4202+ 0.0
pl -37.99 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (3,0,4

T 1 sbe+ud [ 25
pO 4214+ 0.0
p1 -37.49+ 0.00

50 100
TP delay [ns]

TVC(cbch) (3 0,8

[ C =29.50 [ps/ch]

T 1nui.uave+u4 | 25
- po 4167+ 0.0
-33.9+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (3,0,12

Tz urse+ud | 25
= po 4239+ 0.0
pl -35.56 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,1

AT rnunL g rse+ud [ 25
- po 4173+ 0.0
pl -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,5

-1 nu.Z14e+04 [ 25
pO 4206+ 0.0
pL -36.59+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,9

T nuy.3y/e+ud [ 25
4210+ 0.0
-34.61+ 0.00

TP delay [ns]

TVC(cbch) (3,0,13

-1 nuiz.ybbe+ud / 25
pO 4222+ 0.0
pl -35.64 + 0.00

TP delay [ns]

TVC(cbch) (3,0,2)

4000

3000

2000

1000

T Lyie+ud /25
pO 4192+ 0.0
pl -37.06 + 0.00

TP delay [ns]

TVC(cbch) (3,06

4000

3000

2000

1000

- 1nuz 159e+04 / 25
- pO 4229+ 0.0
[ pl -37.95+ 0.00

TP delay [ns]

TVC(cbch) (3, 0 10

4000

3000

2000

1000

- C = 29.43 [ps/ch]

1z, r9pe+ud | 25
= po 4200+ 0.0
- pl -33.98 + 0.00

0

1
50 100

TP delay [ns]

TVC(cbch) (3,0,14

4000

2000

1000

-1 nuizyose+ud | 25
F-. pD 4232+ 0.0
L pl -36.05+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,3

AT rnuiLBLoe+u4 [ 25
- po 4200+ 0.0
pl -37.04+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,7

-1 nuz.0zae+04 [ 25
- pO 4236+ 0.0
pL -37.88+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, O

Tz me+u4/25
= po 4207+ 0.0
p1 -34.69+ 0.00

TP delay [ns]

TVC(C, bch) (3,0,15

Tinuiz13/e+ud /25
- po 4216+ 0.0
p1 -34.62 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,0)

rvoe+U4 [ 25
4178+ 0.0
-37.05+ 0.00

A1,

e po

pl

TP delay [ns]

TVC(cbch) (31,4

C pO
pL

- 1 nuz,0u4e+ud / 25
4199+ 0.0
-35.97 + 0.00

TP delay [ns]

TVC(cbch) (3 1,8

- pD

p1

T zaze+u4 /25
4189+ 0.0
-35.31+ 0.00

TP delay [ns]

TVC(cbch) (31,12

~ i psse+u4 / 25
4212+ 0.0
-34.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,1)

1o4e+u4 /25
4186+ 0.0
-36.87 + 0.00

A,

P PO

pl

TP delay [ns]

TVC(c,b ch) (3 1,5

-1 nui byze+u4 / 25
4187+ 0.0
-35.37 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,9

= po

-1 nup. Yoye+ud / 25
4194+ 0.0
-36.08 + 0.00

TP delay [ns]

TVC(cbch) (3,1,13

Ao,

1ove+u4 [ 25
4220+ 0.0
-36.63+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,1,2)

F, po

A7 1 nun osze+u4 /25
4178+ 0.0
-36.12+ 0.00

pl

TP delay [ns]

TVC(cbch) (3,1,6

pO
p1

T gy /e+ud [ 25
4205+ 0.0
-36.12 + 0.00

TP delay [ns]

TVC(cbch) (3, 1 10

- DO

©1nuzgose+ud | 25
4194+ 0.0
-34.89 + 0.00

pl

TP delay [ns]

TVC(cbch) (31,14

. DD

T 1nuiLp3se+u4 / 25
4207+ 0.0
pl -35.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3)

o po

AT 1 nuizusae+u4 [ 25
4200+ 0.0
-36.06 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (3 1,7

pe=e. pO
pl

-1 nu 3obe+u4 / 25
4217+ 0.0
-36.55+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (3, l

T, uye+u4125
4211+ 0.0
-36.15+ 0.00

TP delay [ns]

TVC(cbch) (3,1,15

PERAL

rove+u4 | 25
4217+ 0.0
-35.15+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0)

e, po

A~ 1nui rore+u4 /25
4167+ 0.0
pl -35.59+ 0.00

TP delay

TVC(cbch) (3,24

[ns]

T LB se+u4 [ 25
4176+ 0.0
pl -35.48 + 0.00

TP delay

TVC(cbch) (3 2,8

E pD

[ns]

©1nuz lobe+u4 / 25
4219+ 0.0
pl -35.59+ 0.00

TP delay

TVC(cbch) (3,212

[ns]

©riuiLgyve+u4 / 25
4225+ 0.0
-35.41+ 0.00

PR B SRS |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,1)

. PO

AT 1L Booe+ud [ 25
4188+ 0.0
-36.66 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (3 2,5

-1 nui Boze+u4 / 25
4201+ 0.0
-36.86 + 0.00

TP delay [ns]

TVC(c,b ch) (3 2,9

e, po

pl

T nu 33be+u4 [ 25
4233+ 0.0
-36.34 + 0.00

TP delay [ns]

TVC(cbch) (3,213

T nuiLyyle+ud / 25
4225+ 0.0
-35.72+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (3,2,2)

™, po

A7 1 nuisoze+u4 /25
4193+ 0.0
-37.37 + 0.00

pl

TP delay [ns]

TVC(cbch) (32,6

-1 nuz,0sze+u4 [ 25

4199+ 0.0
-36.31+ 0.00

TP delay [ns]

TVC(cbch) (3, 2 10

1000

0

- o

pl

T 1nuE.urbe+u4 [ 25
4274+ 0.0
-38.13+ 0.00

0 50 100

TP delay [ns]

TVC(cbch) (3,214

T Lyse+ud /25
- pD 4218+ 0.0
L p1 -35.20+ 0.

-35.29 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,3)

e po

AT rnuiLysie+ud [ 25
4194+ 0.0
-37.1+ 0.0

p1

TP delay [ns]

TVC(c,b ch) (3 2,7

pO
pl

- nui gl/e+u4 / 25
4205+ 0.0
-35.72+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3, 2

T 5UBe+U4/25
4266+ 0.0
-37.19+ 0.00

TP delay [ns]

TVC(C, bch) (3,215

-1 nuiyuye+ud / 25
4233+ 0.0
-35.25+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,0

A7 nun s49e+04 /25
P, po 4187+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(cbch) (33,4

T 1 see+u4 /25
= pO 4208+ 0.0
p1 -34.18+ 0.00

[ C =29.25 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (3 3,8

1 nuizgobe+u4 / 25
= po 4210+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(cbch) (3,312

-1z 1ire+ud [ 25
pO 4230+ 0.0
pl -35.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,3,1

AT rmuLo/ie+ud [ 25
Fee,, po 4195+ 0.0
p1 -36.49 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

~nui /41e+04 / 25
- pO 4221+ 0.0
-35.3+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 3,9

-1 nu.1yae+u4 / 25
= po 4219+ 0.0
p1 -34,68 £ 0.00

TP delay [ns]

TVC(cbch) (3,313

Tonazuse+ud [ 25
pO 4232+ 0.0
pl -35.93+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,3,2)

P PO

pl

X~ 1 nuiLblie+ud [ 25
4211+ 0.0
-35.93+ 0.00

TP delay [ns]

TVC(cbch) (3,3,6

X1,

- PO
p1

[o5e+U4 | 25
4230+ 0.0
-35.54 + 0.00

TP delay [ns]

TVC(cbch) (3, 3 10

- o

1 nuz 3yge+u4 | 25
4248+ 0.0
-35.56 + 0.00

pl

TP delay [ns]

TVC(cbch) (3,314

~1nuiLys4e+u4 | 25
4214+ 0.0
-35.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,3

AT 1L rube+ud [ 25
=, po 4211+ 0.0
pl -34.51+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,7

-1 bage+u4 / 25
pO 4247+ 0.0
p1 -34.56+ 0.00

[ C =28.94 [ps/ch] ]

_L

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 3

T, use+u4/25
e pO 4248+ 0.0
pl -36.62 + 0.00

TP delay [ns]

TVC(C, bch) (33,15

Tinuizisie+ud [ 25
pO 4236+ 0.0
pl -36.44 + 0.00

TP delay [ns]



TVC(cbch)(340) TVC(cbch)(34l) TVC(cbch)(342) TVC(cbch)(343)
A 1w Bsse+u4 [ 25 A~ 1w yupbe+ud | 25 A™ 1 1uizu4ye+u4 [ 25 A1z a11e+ud [ 25
4000 e PO 4191+ 0.0 4000 = po 4189+ 0.0 4000 ._- po 4185+ 0.0 4000 e, po 4204+ 0.0
pl -36.68+ 0.00 pl -36.21+ 0.00 : pl -35.77 + 0.00 pl -36.83+ 0.00

3000

1 3000 -1 3000 -1 3000 N

2000 -1 2000 -1 2000 -1 2000

1000 1 1000 -1 1000 =1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (34,4 TVC(cbch) (34,5 TVC(cbch) (34,6 TVC(c, bch) (3.4,

S l)ble+U4 125 Tonarg, /)ﬂbe+04/25 T, l)aaeﬂjd 125 S| 34be+l)4/25
4000 pO 4226+ 0.0 4000 pO 4231 0.0 4000 [, pO 4239+ 0.0 4000 e, pO 4246+ 0.0
Pl -36.03: 0.00 -36.7+ 0.0 L PL_ -37.37%0.00 Pl 35943000
3000 - 3000 E 3000 E 3000 [ -
2000 — 2000 e 2000~ B 2000 B
1000 - 1000 e 1000 C = e - = 1
C r C=26.76 [psic ] wor C = 27.82 [ps/ch
- + E -
-- '_- [ -- '-
1 1 0, 1 1 0, 1 1 _1
50 00 50 100 50 T00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch=(3,4,8) TVC(eh.e=(3,4,9) TVC(eb.eh=(3, 4, 10) TVC(ebe)=(3, 4, 11)
T U s31e+u4 / 25 <1 b, 749e+04 [ 25 T nug,184e+04 / 25 T bz re+u4 [ 25
4000 e pO 4209+ 0.0 4000 pO 4228+ 00 4000 DO 4238+ 00 4000 p0 4243+ 00
-34.31% 0.00 Pl -34.86+ 0.00 : PL_ 3577+ 0.00 Pl -34.93: 0.00

- 3000

3000~ -1 3000 T 3000 .

] 2000 E 2000

2000 - - 2000

- 1000

- 1000 1000

wool- C = 29,15 [ps/ch]

1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,4,12 TVC(cbch) (3,4,13 TVC(cbch) (3,4,14 TVC(C, bch) (34,15

Tz, 1ie+ud / 25 4000 Tanan o ze+04/25 4000 T Ly rse+ud [ 25 4000 Tonan 1 yse+ud [ 25
41000 o, PO 4234+ 0.0 - PO 4221+ 0.0 - PD 4220+ 0.0 - PO 4224+ 0.0
pl -36.45+ 0.00 pl -37.25+ 0.00 r pl -36.84 + 0.00 pl -36.09 + 0.00

3000

-1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,0

AT 1nui4r0e+04 /25
Frcea. po 4200+ 0.0
pl -35.22+ 0.00

TP delay [ns]

TVC(cbch) (3,54

- i bbze+ud / 25
. pO 4212 0.0
pl -35.33+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 5,8

T, r19e+u4 / 25
- po 4238+ 0.0
pl -34.95+ 0.00

TP delay [ns]

TVC(cbch) (3,5,12

pO
p1

~rnuiLyoze+u4 / 25
4292+ 0.0
-36.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51)

T/ 1Love+ud [ 25
I e pO 4226+ 0.0
pl -35.72+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

~nui /41e+04 / 25
=3 4202+ 0.0
-34.67 + 0.00

[ C =28.84 [ps/ch] =]

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

T nug.y4se+ud [ 25
- po 4268+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (3,5,13

TinuiLgl/e+ud [ 25
pO 4280+ 0.0
pl -36.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (3,5,2)

TP delay [ns]

TVC(cbch) (3,56

K™ 1 nuinq0e+04 / 25
_l po 4230+ 0.0
- pl -35.88+ 0.00

T i/ (ze+04 | 25
fo, pO 4206+ 0.0
[ pl -34.36+ 0.00

- C =29.11 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (3, 5 10

a2 8Ype+u4 | 25
- po 4282+ 0.0
N p1 -34.9+ 0.0

- C = 28.65 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,5,14

1000

T zse+u4 | 25
pD 4280+ 0.0
pl -36.78+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

AT rnuiLoyre+ud [ 25
s, po 4238+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(c,b ch) (3 57

- 1nui /ble+u4 / 25
- pO 4218+ 0.0
p1 -34.33+ 0.00

[ C =29.13 [ps/ch]

_L

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 5

T zbbe+u4/25
- po 4287+ 0.0
pl -35.01+ 0.00

I C =28.57 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (3,5,15

T onan 1 goe+ud [ 25
- pO 4293+ 0.0
p1 -36.87 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0

A~ inuiazie+04 /25
.. po 4173+ 0.0
p1 -34.13+ 0.00

TP delay [ns]

TVC(cbch) (36,4

- 1 nuiL bobe+ud / 25
- pO 4238+ 0.0
pl -36.69+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 6,8

1z, rype+u4 | 25
- po 4227+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(cbch) (3,6,12

~ 1L puse+u4 / 25
4219+ 0.0
-35.11+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,6,1

A1 Lo (e+Ud ] 25
== po 4185+ 0.0
pL -34.6 0.0

TP delay [ns]

TVC(c,b ch) (3 6,5

-1 nuiLbrae+u4 [ 25
- pO 4254+ 0.0
pL -37.49+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

-1 nu.zyve+ud 25
4254+ 0.0
-36.2+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (3,6,13

-1 naiLbuge+ud [ 25
pO 4231% 0.0
p1 -35.9+ 0.0

TP delay

[ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (3,6,2)

A7 1 nui n44e+04 /25
P, po 4201+ 0.0
L pl -35.24+ 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

-1 i bBbe+u4 / 25
- pO 4256+ 0.0
[ pl -36.87 + 0.00

3000

TP delay [ns]

TVC(cbch) (3, 6 10

T 1nuz330e+u4 [ 25
= po 4248+ 0.0
- pl -35.29+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,6,14

T bsze+u4 [ 25
pD 4243+ 0.0
-36.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

AT rnuiL4r0e+u4 /25
- po 4190+ 0.0
pl -34.58 + 0.00

TP delay [ns]

TVC(c,b ch) (3 6,7

=1 boge+u4 / 25
- pO 4259+ 0.0
pL -37.87+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, 6

SRR baue+u4/25
= po 4262+ 0.0
p1 -36.74+ 0.00

TP delay [ns]

TVC(C, bch) (3,6,15

T nui p4ze+u4 [ 25
po 4237+ 0.0
-35.59+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0)

X~ 1 530e+U4 [ 25
4194+ 0.0
-35.16+ 0.00

TP delay [ns]

TVC(cbch) (3,7,4

153e+U4 /25
4203+ 0.0
-35.45+ 0.00

= pO/ -
pl
- C =
- o
TP delay [ns]
TVC(c,b ch) ( 3 7,8
y pO

-1 nuzyiye+ud [ 25
4211+ 0.0
-37.03+ 0.00

p1

TP delay [ns]

TVC(cbch) (3,7,12

T rnuiLyrse+ud [ 25
4223+ 0.0
-34.69+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,1)

[ po

X1 L6y e+Ud | 25
4199+ 0.0
-35.02:+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (3,7,5

X~ g,

118e+04 /25
4192+ 0.0
-34.75+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,9

<1 nuiLguse+us / 25
4237+ 0.0
-36.53 + 0.00

TP delay [ns]

TVC(c,b Ch) (3,7,13

Ao,

== po

(vae+u4 | 25
4207+ 0.0
-34.98 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(cbch) (3,7,2)

- po

pl

X~ 1L BU/e+u4 [ 25
4214+ 0.0
-36.06 + 0.00

TP delay [ns]

TVC(cbch) (37,6

= PO

p1

1L 8z4e+04 | 25
4210+ 0.0
-35.85+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 7, 10

1000

0

= F’O

-1 nug bhe+u4 [ 25
4253+ 0.0
-36.77 + 0.00

pl

TP delay [ns]

TVC(cbch) (3,7, 14

A1,

PO
pl

ruse+u4 /25
4207+ 0.0
-34.4+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3)

e po

A~ 1 nuiLgoze+ud [ 25
4213+ 0.0
-35.38:+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (3 7,7

- pO
p1

-1 nui yave+u4 / 25
4224+ 0.0
-35.63+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 7

= pO

AN dee+U4/25
4251% 0.0
-36.96 + 0.00

TP delay [ns]

TVC(c,b ch) (3,7,15

SRR

= po
p1

(32e+U4 1 25
4214+ 0.0
-35.4+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0

A~ 1 nui ogoe+u4 / 25
' po 4217+ 0.0
p1 -37.32+ 0.00

TP delay [ns]

TVC(cbch) (3,84

- 1 nuiL49pe+04 / 25
pO 4220 0.0
p1 -35.31 0.00

- C N
_ o
TP delay [ns]
TVC(cbch) (3 8,8) —
Trnuzygre+ud | 25
F 4247:‘
-38.2+ 0.0
- c N
= o
TP delay [ns]
TVC(c,b ch) (3, 8 12

- i s57se+u4 [ 25
po 4236+ 0.0
pl -36.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,81

AT 1 nuiL 3sYe+u4 [ 25
' po 4195+ 0.0
p1 -35.48 + 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

~ 1 nui 7y4e+04 [ 25
pO 4208+ 0.0
pL -35.15+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

~naiu43e+ud /25
pO 4263+ 0.0
p1 -37.55+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 8 13

T inuip41e+u4 / 25
pO 4232+ 0.0
pl -36.03+ 0.00

TP delay [ns]

4000

2000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (3,8,2)

1000

X~ 1L 5/9e+U4 [ 25
[, po 4198+ 0.0
L pl -35.93+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

- i b11e+u4 / 25
- pO 4216+ 0.0
[ p1 -35.21+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(3, 8, 10

1000

0

- iz 535e+04 / 25
- po 4269+ 0.0
[ pL -37.92+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,814

- 1 58se+U4 [ 25
- pD 4230+ 0.0
L p1 -36.32:+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3

AT nuiLB2Ye+U4 [ 25
P po 4228+ 0.0
p1 -37.09 + 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

=1 nui Boye+u4 / 25
- pO 4237+ 0.0
-36.1% 0.0

50 160
TP delay [ns]

TVC(c,b ch) (3, 8

= a2 :,ze+u4/25
- pO 4273+ 0.0
p1 -38.03+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 8 15

T nui b4ye+ud [ 25
e po 4240+ 0.0
p1 -35.67 + 0.00

TP delay [ns]



TVE(ED.Ch)=(3,9,0) TVe(EDCh)=(3,9, 1) TVE(ED.Ch)=(3,9,2) TVEEDe)=(3,9, 3)
A~ 11w bble+ud / 25 A~ 1 psse+ud | 25 A” 1L r45e+04 [ 25 A~ v rore+ud | 25
4000 fmm,, po 4212+ 0.0 4000 fe,, po 4229+ 0.0 4000 fm PO 4228+ 0.0 4000 fs PO 4227+ 0.0
pl -35.45+ 0.00 pl -35.95+ 0.00 F pl -35.71+ 0.00 pl -34.88+ 0.00

3000

E 3000 - 3000 - 3000 4

2000 -1 2000

= 2000 -1 2000

1000 E 1000 B 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (3,9.4) TVC(cbch) (3.9,5) TVC(cbch) (3,9.6) TVC(cbch) (3.9.7)
T b /e+u4 [ 25 =1 i Yuge+u4 / 25 - rnuz,0z1e+u4 [ 25 Cnun18/e+04 /25
4000 [, pO 4206+ 0.0 4000 [, pO 4214+ 0.0 4000 e, pO 4229+ 0.0 4000 fs pO 4239+ 0.0
34.9+ 0.0 pL -35.96+ 0.00 3 pl -35.85+ 0.00 pL -34.97+ 0.00
3000 - 3000 — a000f- ] 3000 B
2000 4 2000 B 2000 — ' 2000 ]
1000 1 1000 ] 1000:‘(: =27.89 [ps/ch ' wool C = 28.60 [ps/ch] B
1 1 - - 1 1 ~- 1 "
50 T00 50 00 50 T00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (3,9,8) TVC(c,b ch) (3,9,9) TVC(c,b, ch) (3,9,10) TVC(c,b ch) (3,9,11)
T nug.482e+04 [ 25 -1 nuy, 18be+u4 / 25 © 1 nug,byye+u4 / 25 T rnu.4b1e+u4 [ 25
4000 [, pO 4213+ 0.0 4000 o, pO 4225 0.0 4000 [, pO 4247+ 0.0 4000 [ p0 4254% 0.0
pl -34.83+ 0.00 pL -35.39+ 0.00 3 pl -34.82:+ 0.00 pL -35.87+ 0.00

3000 1 3000 . 3000 - 3000 N

2000 1 2000 2000 ] 2000

1000 ] 1000 1000F ] 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(391 ) TVC(cbch)(3913) TVC(cbch)(391 ) TVC(cbch)(3915)
Tz, 100e+u4 / 25 T rwiz.y/oe+u4 [ 25 ~ 1L yyoe+ud [ 25 Tz, usoe+u4 [ 25
4000 fe, pO 4268+ 0.0 4000 4246 0.0 4000 [, PD 4252+ 00 4000 [, pO 4245 00
pl -36.46 + 0.00 -36.61+ 0.00 : pl -37.73+ 0.00 pl -36.87 + 0.00

3000 -1 3000 - 3000 - 3000 -

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3, 10 0)

T rzze+04 [ 25
4217+ 0.0
p1 -36.85+ 0.00

TP delay

TVC(Cbch) (3, 10 4

pO
pL

[ns]

- i1 bBe+us4 /25
4203+ 0.0
-36.67 + 0.00

50 10'0
TP delay

TVC(cbch) (3, 10 8

- pD

[ns]

-1 nu s25e+04 [ 25
4248+ 0.0
pl -36.84 + 0.00

TP delay

TVC(Cbch) (3, 10 12

E pO

[ns]

- i, (yge+u4 [ 25
4232+ 0.0
pl -34.86+ 0.00

TP delay

[ns]

TVC(chh) (3,10,1)

4000 [ po

A1 L4re+ud ] 25
4219+ 0.0
pL -37.82:+ 0.00

3000

2000

1000

TP delay

TVC(c,b Ch) (3, 10 5

4000 S

[ns]

“nuiLyr3e+u4 / 25
4210+ 0.0
pl -36.67 + 0.00

3000

2000

1000

TP delay

TVC(c,b ch) (3, 10

4000 faem pO

[ns]

T nun.z3/e+u4 [ 25
4261+ 0.0
p1 -36.52+ 0.00

3000

2000

1000

TP delay

TVC(c,b ch) (3, 10 13

4000 [, pO

p1

[ns]

1 nuiL ozoe+ud / 25
4231+ 0.0
-34.2+ 0.0

3000

2000 -

oo C = 29.24 [ps/ch]

L n n n n 1
50 100

TP delay

[ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(CbCh) (3,10,2)

A~ 1w osse+u4 [ 25
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1000

4000

3000

2000

1000

TVC(cbch) (4,5,3)

AT 1L oze+ud [ 25
poee, po 4207+ 0.0
p1 -35.94 + 0.00

TP delay [ns]

TVC(c,b ch) (4 57

-1 nui Y3pe+u4 / 25
- pO 4205+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 5

T zu9e+u4/25
4264+ 0.0
-37.01+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (4,5,15

T nai rsse+u4 [ 25
e pO 4227+ 0.0
p1 -34.86+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,6,0)

- Love+ud [ 25
- PO 4180+ 0.0
pl -37.55+ 0.00

1=
50 100

TP delay [ns]

TVC(cbch) (46,4

- 9z3e+04 | 25
P, pO 4194+ 0.0
pl -37.07 £ 0.00

TP delay [ns]

TVC(cbch) (4 6,8

1z z4pe+u4 | 25
PD 4215+ 0.0
pl -36+ 0.0

TP delay [ns]

TVC(cbch) (4,6,12

T, r41e+04 / 25
PO 4232 0.0
pl -36.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,6,1

A1 uiLar1e+U4 [ 25
- PO 4196+ 0.0
pl -38.24+ 0.00

TP delay [ns]

TVC(c,b ch) (4 6,5

- I, 18ze+U4 25
™, DU 4186+ 0.0
pl -37.04 + 0.00

TP delay [ns]

TVC(c,b ch) (4 6,9

~ 1 nuy.134e+04 / 25
- DO 4223+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (4,6,13

< 1L yobe+ud / 25
- PO 4220% 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (4,6,2)

K™ 1 nui obze+u4 / 25
F - po 4209+ 0.0
I pl -38.36+ 0.00

3000

-
[
50 100

TP delay [ns]

TVC(cbch) (4,6,6

- 1.0 r4e+04/ 25
- pO 4193+ 0.0
I pl -37.03+ 0.00

3000

TP delay [ns]

TVC(cbch) (4, 6 10

0

T rnuizygle+ud | 25
- DO 4241+ 0.0
r pl -36.73+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,6,14

T L sUse+u4 [ 25
- PD 4210+ 0.0
I pl -35.74+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,6,3)

AT 1 nuiLbuze+u4 [ 25
PO 4212+ 0.0
p1 -37.72+ 0.00

TP delay [ns]

TVC(c,b ch) (4 6,7

S nu3y/e+u4 /25
PO 4203+ 0.0
pL -36.32.+ 0.00

TP delay [ns]

TVC(eh.oh)=(4,6, 11

- za4e+04 [ 25
4243+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (4,6,15

T ysze+u4 [ 25
PO 4228+ 0.0
pl -35.85+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,7,0

X~ 1L oLre+U4 /25
- PO 4198+ 0.0
pl -36.23+ 0.00

TP delay [ns]

TVC(cbch) (47,4

- i 718e+04 / 25
P, pO 4210+ 0.0
pl -36.94 + 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(4, 7,8

1 nuz.488e+04 | 25
- PD 4223+ 0.0
pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (4,7,12

~ 1 nuiLooye+u4 / 25
- PO 4248+ 0.0
pl -35.62 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,7,1

AT rnunL g oe+ud [ 25
', PO 4211+ 0.0
pl -36.2+ 0.0

TP delay [ns]

TVC(c,b ch) (4,7,5

'ynuli/ﬁe+04/25
Y 4212+ 0.0
pL -36.18 + 0.00

TP delay [ns]

TVC(c,b ch) (4 7,9

T inun.UL/e+ud [ 25
DO 4254+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (4,7,13

T b31e+u4 /25
pO 4252+ 0.0
pl -36.18 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (4,7,2)

X~ 1L byse+U4 [ 25
po 4203+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(cbch) (4,7,6

- rnunLgBle+ud / 25
pO 4218+ 0.0
pl -36.26 + 0.00

TP delay [ns]

TVC(ebeh)=(4, 7, 10

© i 38/e+04 [ 25
DO 4252+ 0.0
pl -35.88 + 0.00

TP delay [ns]

TVC(cbch) (4,7,14

T nuiLoyle+ud / 25
PD 4252+ 0.0
pl -35.35+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,7,3)

AT 1L save+ud [ 25
PO 4223+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(c,b ch) (4 7,7

- nu /31e+04 / 25
PO 4229+ 0.0
pL -35.17 + 0.00

TVC(c,b ch) (4, 7

TP delay [ns]

1)
T nuiz syze+u4 [ 25
pO 4254+ 0.0
pl -36.65+ 0.00

TP delay [ns]

TVC(C, bch) (4,7,15

T 1 baze+u4 [ 25
pO 4252+ 0.0
pl -35.17 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,0

A7 1nui soze+04 /25
P po 4184+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (4,84

T rnubl/e+ud /25
- pO 4188+ 0.0
pl -36.23+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4 8,8

T 1o3e+u4 /25
- pO 4194+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(cbch) (4,812

~ L bo4e+04 / 25
= po 4201+ 0.0
pl -35.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,81

X137 e+ud | 25
peoe.. po 4187 + 0.0
pL -36.64 + 0.00

TP delay [ns]

TVC(c,b ch) (4 8,5

=1 nui buye+u4 / 25
pO 4193 0.0
pL -36.62:+ 0.00

TP delay [ns]

TVC(c,b ch) (4 8,9

-1 nuw.zyse+ud [ 25
po 4210+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(cbch) (4,813

T inaiolie+ud / 25
pO 4204+ 0.0
p1 -35.7+ 0.0

TP delay [ns]

4000

2000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (4,8,2)

1000

AT 1nun41se+04 /25
- po 4200+ 0.0
[ p1 36+ 0.0

3000

TP delay [ns]

TVC(cbch) (4,86

T i 743e+04 [ 25
- pO 4210+ 0.0
3 pl -36.43+ 0.00

3000

TP delay [ns]

TVC(cbch) (4, 8 10

©1nuiz.438e+04 / 25
= po 4238+ 0.0
- pl -35.58 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,814

T zzoe+u4 [ 25
-, pD 4206+ 0.0
L p1 -36.09 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,3

AT 1L 4ze+ud [ 25
- po 4202+ 0.0
p1 -36.6+ 0.0

TP delay [ns]

TVC(c,b ch) (4 8,7

“nui /oe+u4 [ 25
- pO 4204+ 0.0
pL -36.08+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 8

T b/He+U4/25
= po 4228+ 0.0
p1 -34.75+ 0.00

TP delay [ns]

TVC(C, bch) (4,815

T nui vbze+ud [ 25
= pO 4203+ 0.0
p1 -34.79.+ 0.00

TP delay [ns]



TVC(ED.ch)=(4,9,0) TVe(EDCh)=(4,9, 1) TVC(EDCh)=(4,9,2) TVEEDe)=(4,9,3)
AT i 3sse+u4 [ 25 A~ 1w 3bpe+ud [ 25 AT 1w 4z8e+04 [ 25 A~ 1L syre+ud [ 25
4000 fe,, po 4228+ 0.0 4000 fmm,, po 4226+ 0.0 4000 fm, po 4231 0.0 4000 e, po 4251+ 0.0
pl -36.48 + 0.00 pl -36.59 + 0.00 r pl -36.79+ 0.00 pl -37.06 + 0.00

3000

-1 3000 =1 3000 =1 3000 -1

2000 - 2000 =1 2000 =1 2000

1000 - 1000 =1 1000 =1 1000

0, 0, 0,
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (4,9.4) TVC(cbch) (4.95) TVC(cbch) (4.9.6) TVC(cbch) (4.9,7)
T rnuaiLb//e+u4 [ 25 - nun Z3ze+u4 [ 25 -1z, 0obe+ud / 25 - 1nui g /e+u4 / 25
4000 pO 4213+ 0.0 4000 f DU 4222+ 0.0 4000 [, pO 4242100 4000 f pO 4249+ 0.0
pl -36.43  0.00 -35.9+ 0.0 3 pl -37.26:+ 0.00 pL -37.14+ 0.00
3000~ T 3000 - 3000 — — 3000 T
2000 - 4 2000 - 2000 — — 2000 —
1000 C - 1000 - 1000:— C=26.84 [pS/Ch — 1000 C -
0 EY o 5 T = 0 EY 0 0 5 0o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (4,9,8) TVC(c,b ch) (4,9,9) TVC(c,b, ch) (4,9,10) TVC(c,b ch) (4,9,11)
Cnua.zze+u4 [ 25 - nug.gu4e+u4 [ 25 © 1 a2 ysoe+ud / 25 - buse+u4 [ 25
4000 pO 4217+ 0.0 4000 [ pO 4237+ 0.0 4000 4238+ 0.0 4000 4246+ 0.0
pl -34.88 + 0.00 pL -34.37+ 0.00 L 335+ 0.0 -34.4% 0.0
3000 1 3000 |- - 3000 ] 3000 E
2000 N 2000 |- E 2000 [ ] 2000 B

woF C =29.09 [ps/ch] ™, ] wol C = 29.85 [ps/ch] .. woF C =29.07 [ps/ch] ™, 7
1 1 - [ 1 1 ~- E 1 1 "
50 00 0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(491 ) TVC(cbch)(4913) TVC(cbch)(491 ) TVC(cbch)(4915)
T, (48e+04 / 25 T o/ re+u4 /25 ~ 1 nuiL500e+u4 / 25 -1 nui boze+u4d / 25
4000 pO 4242+ 0.0 4000 pO 4243+ 0.0 4000 . 4227+ 0.0 4000 o, pO 4247+ 0.0
pl -35.82+ 0.00 pl -36.08 + 0.00 r -34.07 £ 0.00 pl -35.39+ 0.00
3000 e 3000 1 3000} ] 3000 E
2000 E 2000 — 2000 ] 2000 E
1000 - 1000 T 1000:_ C=2935 [pS/Ch] 5 _ 1000 E
. -]

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (4, 10 0)

=, pO

T ize+ud /25
4158+ 0.0
pl -35.18+ 0.00

TP delay [ns]

TVC(cbch) (4,104

pO

=1 i 3obe+04 / 25
4211+ 0.0
pl -35.14 + 0.00

TP delay [ns]

TVC(cbch) (4, 10 8

T 1nug.413e+04 / 25
4217+ 0.0
pl -36.26 + 0.00

TP delay

TVC(cbch) (4,10,12

[ns]

1 nuiL4yde+04 / 25
4247+ 0.0
pl -36.44 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,10,1)

A1 Laze+ud | 25
pee,, po 4184+ 0.0
pL -35.03+ 0.00

TP delay [ns]

TVC(c, bch) (4,10,5

-1 nu 3bze+u4 [ 25
4204+ 0.0
-34.95+ 0.00

TP delay [ns]

TVC(ebeh)=(4, 10,9

e, po

pl

T nu.135e+U4 / 25
4239+ 0.0
-36.27 + 0.00

TP delay [ns]

TVC(C, bch) (410,13

Tinuipz/e+ud [ 25
4256+ 0.0
-35.99+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000
3000
2000

1000

1000

TVC(CbCh) (4,10,2)

=, po

A7 1 nuisose+u4 /25
4178+ 0.0
p1 -34.82+ 0.00

TP delay

TVC(cbch) (4,10,6

[ns]

- 1L bole+ud / 25
4226+ 0.0
pl -36.45+ 0.00

- pO
L C = 27.44 [ps/ch .
5(') 10'0 =
TP delay [ns]

TVC(cbch) (4, 10 10

1000

0

= o

T, r31e+04 /25
4265+ 0.0
pl -37.18 + 0.00

TP delay

TVC(cbch) (410,14

[ns]

~1nuiL4se+u4 | 25
4249+ 0.0
pl -36.09 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,10,3)

e po

AT nun Lgoe+ud [ 25
4185+ 0.0
pl -35.16+ 0.00

TP delay

TVC(c, bch) (4,10,7

wr

pO
pl

[ns]

41.26125
4212+ 26
-34.87 + 0.06

TP delay

TVC(ehch)=(4, 10, 11

e pO

[ns]

T inuzus/e+ud [ 25
4257+ 0.0
pl -35.75+ 0.00

TP delay

TVC(cbch) (4,10,15

e, po

[ns]

T nui soae+u4 / 25
4229+ 0.0
p1 -35.63+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (4,11,0)

[ C =29.81[ps/ch]

AT 1nuis/ve+u4 /25
.. po 4164+ 0.0
-33.55+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,11,4

= 1 1uiL4ube+u4 / 25
- pO 42254 0.0
354+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (4,118

1 nuz.gove+u4 | 25
= po 4223+ 0.0
pl -36.62+ 0.00

TP delay [ns]

TVC(cbch) (4,11, 12

X1 yse+u4 /25
= po 4237+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(Cbch) (4,11,1)

4000 [ po

pl

A~ 1L abye+ud [ 25
4177+ 0.0
-33.42+ 0.00

3000

2000 -

ol C = 29.92 [ps/ch]

1 1
50 100

TP delay

TVC(cbch) (4,11,5

4000 fm, pO

[ns]

-1 b34e+u4 [ 25
4216+ 0.0
-35.9 + 0.0

3000

2000

1000

50 1(;0
TP delay

TVC(eh.eh)=(4, 11, 9

4000 [

[ns]

~ 1 nuiy v44e+04 [ 25
4243+ 0.0
pl -35.36 + 0.00

3000

2000

1000

TP delay

TVC(c, bch) (411,13

4000 e ,,0

[ns]

Tinuips/e+ud [ 25
4234+ 0.0
pl -36.62+ 0.00

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

2000

1000

TVC(CbCh) (4,11, 2)

FC=30.12 [ps/ch] ™. 1

AT 1nuisr0e+04 /25
- po 4184+ 0.0
- pl -33.2+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (4,116

“ i 714e+04 [ 25
pe, pO 4236+ 0.0
[ pl -36.78 0.00

TP delay [ns]

TVC(e.bch)=(4, 11, 10

X~ 1z g8ze+04 | 25
- po 4249+ 0.0
- pl -34.96 + 0.00

TP delay [ns]

TVC(cbch) (4,11, 14

X~ 1 by4e+04 [ 25
- po 4226+ 0.0
L pl -35.33+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,11,3)

po

p1

AT rnuiLzyse+ud [ 25
4183+ 0.0
-33.1+ 0.0

[ C=30.21 [ps/ch] .

1 1
50 100

TP delay

TVC(cbch) (4,11,7

- pO

[ns]

-1 nui bae+04 / 25
4248+ 0.0
pl -36.41+ 0.00

TP delay

TVC(cbch) (4, 11 11

e pO

[ns]

T nuiz 110e+u4 / 25
4250+ 0.0
pl -35.69 + 0.00

TP delay

TVC(c, bch) (411,15

[ns]

-1 nui ozoe+ud / 25
4223+ 0.0
p1 -35.25+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (4, 12 0)

~rnuiLgn4e+u4 [ 25
P pO 4181+ 0.0
p1 -34.63+ 0.00

TP delay [ns]

TVC(cbch) (4,124

- i bB3e+ud / 25
[, PO 4202+ 0.0
pl -36.81+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 12 8

T Ly rze+u4 | 25
= po 4198+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(cbch) (412,12

T rnuizusie+ud | 25
pO 4213+ 0.0
pl -35.98 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,12,1)

x- 1 L s%ae+U4 | 25
P po 4216+ 0.0
pL -35.63+ 0.00

TP delay [ns]

TVC(c, bch) (4,125

- nui r9ge+u4 [ 25
e, pO 4205 0.0
pL -36.28+ 0.00

TP delay [ns]

TVC(c, bch) (4,12,9

~ 1 nug. r9ve+ud / 25
= pO 4211+ 0.0
pl -36.45 + 0.00

TP delay [ns]

TVC(C, bch) (412,13

- T nuiLp4ve+ud 25
- pO 4195+ 0.0
pl -35.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (4,12,2)

FC = 29.47 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4,126

T LBz e+u4 [ 25
- pO 4208+ 0.0
[ pl -36.16 + 0.00

AT 1nunazse+04 /25
__— po 4191+ 0.0
o pl -33.93+ 0.00

TP delay [ns]

TVC(epeh)=(4, 12, 10

T rnuzgz1e+04 | 25
po 4239+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (412,14

T 1L, ry4e+04 [ 25
pD 4198+ 0.0
pl -35.44 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,12,3)

AL adierud | 25
e po 2194+ 0.0
pL -35.47 £ 0.00

TP delay [ns]

TVC(c, bch) (4,12,7

-1 nui yuze+u4 / 25
- pO 4219+ 0.0
pL -36.56+ 0.00

50 1(;0
TP delay [ns]

TVC(c, bch) (4, 12 11

1 nuiz.uzoe+ud [ 25
e pO 4234+ 0.0
-35.4+ 0.0

TP delay [ns]

TVC(cbch) (4,12,15

- Tinai/oe+ud [ 25
pO 4203+ 0.0
-35.29+ 0.00

TP delay [ns]



TVC(CbCh) (4, 13 0)

4000

3000

2000

1000

T, (50e+U4 | 25
o, pO 4290+ 0.0
pl -37.09 + 0.00

TP delay [ns]

TVC(cbch) (4,134

4000

3000

2000

1000

T i1 b4e+u4 /25
Tanse, PO 4228+ 0.0
pl -36.24 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 13 8

4000

3000

2000

1000

[ C =29.35[ps/ch] ™.

T rnuiL410e+04 / 25
e, PD 4268+ 0.0
p1 -34.07 + 0.00

0

1
50 100

TP delay [ns]

TVC(cbch) (4,13, 12

4000

3000

2000

1000

T L r4e+04 /25
- po 4233+ 0.0
pl -34.98 + 0.00

TP delay [ns]
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2000

1000

4000

3000

2000

1000

TVC(chh) (4,13,1)

A H‘”'zblequ/ZS
e po 4282+ 0.0
pl -36.99 + 0.00

TP delay [ns]

TVC(c, bch) (4,135

- nui /3ze+04 [ 25
[, pO 4216+ 0.0
pL -35.95+ 0.00

TP delay [ns]

TVCebCh)=(4, 13,9

T inuis./4/e+04 /25
- po 4302+ 0.0
pl -35.73 + 0.00

TP delay [ns]

TVC(C, bch) (413,13

~ 1 nuiLquse+ud / 25
- pO 4237+ 0.0
pl -35.17+ 0.00

TP delay [ns]
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1000

4000
3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (4,13,2)

AT 1 nus asse+ud / 25
e, po 4297+ 0.0
[ p1 -37.42 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,136

T r3/e+04 [ 25
4246+ 0.0
-37.1+ 0.0

TP delay [ns]

TVC(cbch) (4, 13 10

Tz 15e+u4 [ 25
- po 4315+ 0.0
[ pl -35.12+ 0.00

- C = 28.47 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (4,13, 14

T rnuiLg1ze+04 /25
- pD 4242+ 0.0
| pl -35.33+ 0.00

TP delay [ns]
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1000
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2000

1000

4000
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2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,13,3)

R- 1 281e+04 [ 25
. po 4308+ 0.0
pL -36.57+ 0.00

TP delay [ns]

TVC(c, bch) (4,137

-1 nui goge+u4 / 25
- pO 4258+ 0.0
pL -37.17 0.00

50 100
TP delay [ns]

TVC(eb.eh)=(4, 13, 11)

[ C =28.55 [ps/ch]

ur 5049 / 25
- po 4319+ 0.0
pl -35.03+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,13,15

T inuios/e+ud [ 25
- po 4249+ 0.0
p1 -35.39+ 0.00

TP delay [ns]



4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4, 14 0)

T rnuizp41e+04 /25
o, pO 4238+ 0.0
pl -36.37 + 0.00

TP delay [ns]

TVC(cbch) (4,144

- i bh3e+ud [ 25
e, pO 4243+ 0.0
pl -36.08:+ 0.00

TP delay [ns]

TVC(cbch) (4, 14 8

T g 1yze+u4 [ 25
= po 4203+ 0.0
pl -35.27 + 0.00

TP delay [ns]

TVC(cbch) (4,14, 12

T rnuizuzie+u4 | 25
- po 4283+ 0.0
p1 -37.3+ 0.0

TP delay [ns]
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1000
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,14,1)

P PO

pl

A7 1 nuzob4e+U4 [ 25
4231+ 0.0
-35.51+ 0.00

1 1
50 100

TP delay [ns]

TVC(c, bch) (4,145

[, pO

-1 nui 488e+04 / 25
4255+ 0.0
-36.87 + 0.00

TP delay [ns]

TVC(c, bch) (4,14,9

e, po

pl

T 1 nu.3bze+u4 [ 25
4235+ 0.0
-34.74+ 0.00

TP delay [ns]

TVC(C, bch) (414,13

== po

T nui gbye+ud / 25
4269+ 0.0
-36.14+ 0.00

TP delay [ns]
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1000
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1000

4000
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1000

4000

3000
2000

1000

TVC(CbCh) (4,14,2)

- C =28.17 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (4,146

AT 1 nuisa43e+04 /25
- po 4241+ 0.0
- pl -35.5+ 0.0

T/ 1e+04 [ 25
- pO 4248+ 0.0
[ pl -35.78+ 0.00

TP delay [ns]

TVC(cbch) (4,14, 10

1 nuzbope+ud | 25
= po 4236+ 0.0
- pl -34.63 + 0.00

- C = 28.88 [ps/ch]

1
50 100

TP delay [ns]

TVC(CbCh) (4, 14 14

T L yse+ud /25
- pD 4258+ 0.0
L pl -36.02+ 0.00

TP delay [ns]

TVC(Cbch) (4,14,3)

AT s, Lroe+ud [ 25
4234+ 0.0
pl -34.74+ 0.00

4000 frwm

po

3000

2000

1000

TP delay

TVC(c, bch) (4,14,7

4000 frm pO

[ns]

-1 nui 83be+u4 / 25
4276+ 0.0
pl -35.95+ 0.00

3000 -

2000

woor C =27.82 [ps/ch

TP delay

TVC(c, bch) (4, 14 11

4000 [ue.

pO
pl

[ns]

T nuiz1yse+ud [ 25
4235+ 0.0
-34.55 + 0.00

3000 -

2000 -

1o00r C = 28.94 [ps/ch]

1
50 100

TP delay

TVC(cbch) (4,14,15

4000 fam po

[ns]

T inuiyise+ud [ 25
4261+ 0.0
p1 -35.78 + 0.00

3000

2000

1000

TP delay

[ns]
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1000
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2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (4, 15 0)

© L, rope+u4 [ 25
pO 4198+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(cbch) (4,154

T bz e+u4 [ 25
4193+ 0.0
-35.6+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (4, 15 8

1 nuzpgbe+u4 | 25
po 4221+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(cbch) (4,15, 12

T rnugusre+ud | 25
pO 4222+ 0.0
pl -34.58 + 0.00

TP delay [ns]
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1000
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1000

4000
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2000

1000

TVC(chh) (4,15,1)

AT 1 nunLszse+u4 [ 25
Foase po 4183+ 0.0
pl -36.23+ 0.00

TP delay [ns]

TVC(c, bch) (4,155

“ i brge+u4 [ 25
pO 4203 0.0
pL -35.58+ 0.00

TP delay [ns]

TVC(c, bch) (4, 15 9

~ 1 nu.ubse+ud / 25
- pO 4245+ 0.0
pl -37.15+ 0.00

TP delay [ns]

TVC(C, bch) (415,13

T inuigzive+ud [ 25
— pO 4223+ 0.0
pl -36.04 + 0.00

TP delay [ns]
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1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (4,15,2)

TP delay [ns]

TVC(cbch) (4,156

K™ 1 nui 1soe+u4 / 25
_=_ po 4208+ 0.0
o pl -36.52+ 0.00

3000

=1 nurLyobe+ud [ 25
- pO 4216+ 0.0
[ pl -36.66 + 0.00

TP delay [ns]

TVC(cbch) (4, 15 10

1000

0

T 2.33e+04 /25
- po 4243+ 0.0
r -36.5+ 0.0

TP delay [ns]

TVC(cbch) (4,15, 14

Tz ryre+u4 | 25
- pD 4231+ 0.0
L p1 -37.37+ 0.00

TP delay [ns]
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1000
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1000
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1000

TVC(Cbch) (4,15,3)

AT 1 nuiLB41e+U4 /25
= po 4211+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(c, bch) (4,157

- nui /39e+u4 / 25
- pO 4212+ 0.0
pL -35.76+ 0.00

50 1(;0
TP delay [ns]

TVC(ehch)=(4 15, 11

-1 nuiz.ybye+ud / 25
= po 4253+ 0.0
pl -36.26 + 0.00

TP delay [ns]

TVC(cbch) (4,15,15

T nuizpyle+ud / 25
- po 4218+ 0.0
p1 -35.16+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,0,0)

AT 1nuiL g oe+04 /25
po 4178+ 0.0
p1 -34.97 + 0.00

TP delay [ns]

TVC(cbch) (50,4

T 1 8ee+u4 / 25
pO 4196+ 0.0
p1 -35.77:+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (5 0,8

© 1z yoze+u4 | 25
PD 4199+ 0.0
p1 -34.67 + 0.00

TP delay [ns]

TVC(cbch) (5,0,12

[ C =29.42 [ps/ch]

1L gobe+u4 / 25
pO 4204+ 0.0
pl -33.99+ 0.00

50

1
100

TP delay [ns]
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1000
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1000

4000
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1000

TVC(cbch) (5,0,1

AT 1 nuiLrose+ud [ 25
P e po 4174+ 0.0
pl -35.12+ 0.00

TP delay [ns]

TVC(c,b ch) (5 0,5

-1 nui Bule+ud / 25
o pO 4201% 0.0
pL -35.41% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5 0,9

Tnazs/e+ud [ 25
- pO 4224+ 0.0
pl -35.23 + 0.00

TP delay [ns]

TVC(cbch) (50,13

Tinai/1/e+ud /25
peee. 4198+ 0.0
-32.93+ 0.00

[ C=30.37 [ps/ch] ™. ]
s *
TP delay [ns]

TVC(cbch) (5,0,2)

4000

2000

1000

TP delay [ns]

TVC(cbch) (50,6

4000

3000

2000

1000

K™ szze+04 [ 25
= po 4184+ 0.0
L pl -35.27 + 0.00

3000

T rnuzuy/e+u4 [ 25
- pO 4201% 0.0
[ pl -35.59+ 0.00

TP delay [ns]

TVC(cbch) (5, 0 10

4000

3000

2000

1000

© 1 nuig bzge+u4 | 25
po 4225+ 0.0
pl -33.76 + 0.00

- C = 29.62 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (5,0,14

4000

3000

2000

1000

T i y4se+u4 [ 25
4211+ 0.0
-33.34+ 0.00

FC =30.00 [ps/ch] ™. 1
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50 100

TP delay [ns]
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1000
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (5,0,3

AT 1L rzoe+ud [ 25
poee, po 4198+ 0.0
pl -34.59 + 0.00

TP delay [ns]

TVC(c,b ch) (5 0,7

-1 nuz.0uae+u4 / 25
- pO 4226+ 0.0
p1 -35.94 + 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (5, O 11

Tonun g11e+u4/25
= po 4236+ 0.0
p1 -34.46 + 0.00

[ C=29.02 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (50,15

T inuiLsu/e+ud [ 25
= pO 4196+ 0.0
p1 -32.75+ 0.00

[ C=30.53[ps/ch] ™ 7
gl =
TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,1,0)

T Lole+ud /25
4184+ 0.0
pl -36.86+ 0.00

TP delay

TVC(cbch) (51,4

[ns]

T rnuazouse+ud [ 25
4180+ 0.0
-35.9+ 0.0

50 10‘0
TP delay

TVC(cbch) (5 1,8

[ns]

p1

AL 2uoe+04 125
4000 e pD 4206+ 0.0
-34.58 + 0.00
3000 - ]
2000 = 7
oo C = 28.91 [ps/ch] ]
s
1 1
b 50 100
TP delay [ns]
TVC(cbch) (5,1,12)
© 1 nuz.449e+04 25
4000 [ po 4194+ 0.0
-34.8+ 0.0

3000

2000

1000

TP delay

[ns]
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3000

2000

1000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,1,1)

P PO

pl

AT 1nuiLyu/e+u4 /25
4165+ 0.0
-36.01+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (5 1,5

- 1nu3yle+u4d / 25
4188+ 0.0
-36.03 + 0.00

TP delay [ns]

TVC(c,b ch) (5 1,9

Tinun po3e+ud [ 25
4207+ 0.0
-34.6 £ 0.0

1
100

TP delay [ns]

TVC(cbch) (51,13

-1 nuiz suse+ud 25
4192+ 0.0
-35.39+ 0.00

TP delay [ns]
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1000
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3000

2000

4000

3000
2000

1000

1000

TVC(cbch) (5.1,2)

-36.83 + 0.00

T Lsae+ud /25
e pO 4183+ 0.0
L p1 -36.83+ 0.

TP delay [ns]

TVC(cbch) (5.1,6

S nun Zzse+ud [ 25
pO 4191% 0.0
pl -35.64 + 0.

-35.64 + 0.00

TP delay [ns]

TVC(cbch) (5, 1 10

- o

T nuig bz e+u4 [ 25
4244+ 0.0
-35.11+ 0.00

pl

TP delay [ns]

TVC(cbch) (51,14

= DD
L p1

~ 1z gope+ud | 25
4206+ 0.0
-36.04 + 0.00

TP delay [ns]
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1000

4000
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2000

1000

TVC(cbch) (5,1,3)

E po

p1

AT rnuzzroe+ud [ 25
4202+ 0.0
-36.72+ 0.00

TVC(c,b ch) (5 1,7

pe=e. pO
pl

1
100

TP delay [ns]

- nu 313e+04 / 25
4199+ 0.0
-35.89+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (5, l

ERALER b‘Jée+U4/25

4236+ 0.0
-33.76 + 0.00

[ C=29.62 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (51,15

-1 nuiz.quye+ud / 25
4206+ 0.0
-35.47 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

TVC(cbch) (5,2,0

X~ 1L s/1e+U4 /25
k... PO 4209+ 0.0
pl -35.44 + 0.00

TP delay [ns]

TVC(cbch) (52,4

- 1w ZUbe+ud /25
F po 4199+ 0.0
pl -34.33+ 0.00

[ C =29.13 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,oh)=(5, 2,8

- s Zose+ud [ 25
- po 4233+ 0.0
p1 -36.19+ 0.00

TP delay [ns]

TVC(cbch) (5,2, 12

T nuz.z9se+ud | 25
= po 4224+ 0.0
pl -35.12+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (5.2,1

AT 1 nuiLBLoe+u4 [ 25
k.. po 4207+ 0.0
p1 -34.9+ 0.0

1 1
50 100

TP delay [ns]

TVC(c,b ch) (5 2,5

“1nuz.Uo/e+u4 [ 25
. 4209+ 0.0
-33.29 % 0.00

[ C =30.04 [ps/ch] ™. 7
+ o
TP delay [ns]

TVC(eb,oh)=(5, 2, 9

T nuiL zgbe+u5 / 25
- po 4257+ 0.0
p1 -35.81+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 2 13

Tinuzaize+ud [ 25
4225+ 0.0
-34.27+ 0.00

[ C =29.18 [ps/ch] 7
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50 100

TP delay [ns]
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3000
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1000
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4000

3000
2000

1000

TVC(cbch) (5,2,2)

A~ 1 nuiL 8 rae+u4 [ 25
P, po 4237+ 0.0
[ p1 -36+ 0.0

3000

TP delay [ns]

TVC(cbch) (5.2,6

-1 nuz,0oye+ud / 25
pO 4216+ 0.0
p1 -34.09 + 0.00

- C = 29.33 [ps/chI™. 1

50 10'0
TP delay [ns]

TVC(CbCh) (5, 2 10

1000

T nuig.43ze+04 [ 25
- po 4267+ 0.0
- pl -35.73+ 0.00

TP delay [ns]

TVC(cbch) (5.2 14

~ g zoge+04 | 25
= pD 4209+ 0.0
L pl -34.45+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

TVC(cbch) (5,2,3)

x- 1 L Gzae+U4 | 25
po 4224+ 0.0
pL -34.36+ 0.00

[ C =29.10 [ps/ch] ]
o o
TP delay [ns]

TVC(c,b ch) (5 2,7

= 1 nuz 209e+0d | 25
= po 4227+ 0.0
p1 -34.71% 0.00

TP delay [ns]

TVC(e.beh)=(5, 2,

T 54=e+u4/25
- po 4265+ 0.0
-35.5+ 0.0

TP delay [ns]

TVC(c,b ch) (5, 2 15

- g sz9e+u4 [ 25
= pO 4221+ 0.0
p1 -34.74+ 0.00

TP delay [ns]
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1000

TVC(cbch) (5,3,0

K™ nui rose+u4 / 25
P po 4178+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(cbch) (53,4

S rnuaLBu/e+u4 / 25
P, pO 4197+ 0.0
pl -35.83+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 3,8

©rnuizgule+u4 / 25
= po 4206+ 0.0
-34.31+ 0.00

[ C =29.15 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5,312

T g zsze+u4 | 25
4245+ 0.0
-35.9+ 0.0
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50 100

TP delay [ns]

4000

3000

2000

1000
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (53,1

AT nuLsroe+ud [ 25
1 s po 4183+ 0.0
p1 -34.88+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (5 3,5

- 1nu 3nle+ud / 25
E pO 4208+ 0.0
pL -36.77:+ 0.00

TP delay [ns]

TVC(c,b ch) (5 3,9

-1 nu.4p8e+u4 / 25
= po 4207+ 0.0
pl -33.29 + 0.00

[ C=30.04 [ps/ch] ™. ]

1
50 100

TP delay [ns]

TVC(cbch) (53,13

T nug 19se+ud / 25
= pO 4231+ 0.0
pl -36.28 + 0.00

TP delay [ns]
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1000

4000
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1000

4000

2000

1000

TVC(cbch) (5,3,2)

A7 1 nui yzoe+u4 /25
Funse. po 4202+ 0.0
L pl -35.54 + 0.00

3000

TP delay [ns]

TVC(cbch) (5.3,6

- 1nuz0ple+ud / 25
4220+ 0.0
-35.6+ 0.0

TP delay [ns]

TVC(cbch) (5, 3 10

T a3 e+ud [ 25
- po 4240+ 0.0
- pl -34.86 + 0.00

3000

TP delay [ns]

TVC(cbch) (5,3 14

- 1w si1e+ud [ 25
- pD 4229+ 0.0
L p1 -35.69 + 0.00

3000

TP delay [ns]

4000

3000
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,3,3

AT 1 nuz,u4se+u4 /| 25
po 4204+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(c,b ch) (5 3,7

-1 nu 1b4e+04 / 25
- pO 4243+ 0.0
pL -36.63+ 0.00

50 1(;0
TP delay [ns]

TVC(e.Deh=(5, 3, 1

(AL 144e+u4/25
4252+ 0.0
-34.6 £ 0.0

I C =28.90 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (53,15

T nug.qp3e+u4 / 25
4239+ 0.0
-35.21+ 0.00

TP delay [ns]
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1000

0

4000
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1000

TVC(cbch) (5,4,0

A7 1 nui sone+u4 /25
P po 4179+ 0.0
p1 -34.62+ 0.00

TP delay [ns]

TVC(cbch) (54,4

- i 35pe+04 / 25
P, pO 4192+ 0.0
p1 -34.67 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 4,8

T rnuzbo1e+u4 [ 25
= po 4209+ 0.0
pl -36.52+ 0.00

TP delay [ns]

TVC(cbch) (5,4, 12

T Lz ie+u4 /25
== po 4203+ 0.0
pl -35.21+ 0.00

TP delay [ns]
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1000

4000

3000
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1000

4000

3000

2000

1000

TVC(cbch) (54,1

AT Zsrevud | 25
Foe. po 41712 0.0
p1 -33.75+ 0.00

[ C =29.63 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (5 4,5

-1 nuiL 4ybe+04 [ 25
e, pO 4199+ 0.0
pL -35.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (5 4,9

T nui 33be+u4 25
4246+ 0.0
-36.3 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (54,13

T inuiorae+ud [ 25
- pO 4211+ 0.0
pl -35.74 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (5,4,2)

AT 1nun ssre+04 /25
P po 4182+ 0.0
L pl -35.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (54,6

1L 484e+04 | 25
- pO 4220+ 0.0
- pl -35.92 + 0.00

TP delay [ns]

TVC(cbch) (5, 4 10

1z, roge+u4 | 25
F po 4245+ 0.0
- pl -35.32+ 0.00

TP delay [ns]

TVC(cbch) (5,414

T g1se+u4 [ 25
= pD 4205+ 0.0
L p1 -34.79+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,4,3

AT 1L syve+ud [ 25
poee, po 4196 + 0.0
pl -34.56 + 0.00

TP delay [ns]

TVC(c,b ch) (5 4,7

-1 nui 44ze+04 [ 25
- pO 4215+ 0.0
p1 -34.99+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 4

T, 15ue+u4/25
= pO 4264+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(C, bch) (54,15

TinuiLsl/e+ud /25
= pO 4205+ 0.0
-35.01+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,5,0

A~ 1 nun zaue+04 | 25
= po 4183+ 0.0
p1 -35.68+ 0.00

TP delay [ns]

TVC(cbch) (55,4

- i 781e+04 [ 25
= po 4183+ 0.0
pl -36.15+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (5 5,8

S rnun 5ane+u4 [ 25
4222+ 0.0
-36.8 + 0.0

1
50 00

TP delay [ns]
TVC(cbch) (5.5,12)
T L yzse+u4 | 25
= po 4225+ 0.0
pl -35.84 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.5,1

A” 1 nuiL bsbe+u4 / 25
= po 4203+ 0.0
p1 -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (5 55

= rnuzl10e+u4 / 25
== po 4190+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(c,b ch) (5 59

~ 1 nuiLy14e+U5 / 25
- pO 4241% 0.0
p1 -36.21+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 5 13

- pO
p1

T inuig1ye+ud [ 25
4221+ 0.0
-36.44+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (5.5,2)

X~ 1L 530e+04 [ 25
- po 4186+ 0.0
L pl -36.16 + 0.00

3000

TP delay [ns]

TVC(cbch) (55,6

T nugble+u4 / 25
4185+ 0.0
-36.51+ 0.00

TP delay [ns]

TVC(eb,oh)=(5, 5, 10

-1 nug zoge+ud [ 25
-, po 4234+ 0.0
o pl -36.12 + 0.00

3000

TP delay [ns]

TVC(cbch) (55,14

© 1L g4ve+u4 [ 25
4231+ 0.0
-36.6 + 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5,3

A~ 1 nuiLbzie+ud [ 25
- po 4211+ 0.0
pL -36.37:+ 0.00

TP delay [ns]

TVC(c,b ch) (5 57

-1 nu Sz0e+04 | 25
= po 4217+ 0.0
p1 -37.19+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (5, 5

T, 4/9e+u4/25
e pO 4246+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 5 15

-1 ss4e+U4 [ 25
4225+ 0.0
-35.81+ 0.00

PR R SR |
50 100

TP delay [ns]



TVC(cbch)(560) TVC(cbch)(561) TVC(cbch)(562) TVC(cbch)(563)
A™ i 4use+ud [ 25 A” 1L b3ze+ud | 25 A” 11 buze+ud [ 25 A~ v siie+ud [ 25
4000 [Fowe, PO 4180+ 0.0 4000 P po 4173+ 0.0 4000 _=- po 4193+ 0.0 4000 [ po 4200+ 0.0
pl -34.84 + 0.00 pl -34.48 + 0.00 F pl -34.52+ 0.00 pl -34.92+ 0.00

- 3000

3000 E 3000 - 3000 4

2000 4 2000 - 2000~ - 2000

1000 - 1000 1000

1 wol- C = 28.97 [ps/chl]

L 1 L 1 1 ] _1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (56,4 TVC(cbch) (56,5 TVC(cbch) (56,6 TVC(c, bch) (56,7

T Lo /e+ud / 25 4000 -1 byse+ud [ 25 “rnu 1.8e+ud /25 -1 nun gz1e+u4 / 25
4000, PO 4192+ 0.0 [, DO 4189+ 0.0 4000 F 4209+ 0.0 4000 e, PU 4199+ 0.0
pl -35.35+ 0.00 pl -35.67 + 0.00 I -36.3+ 0.0 pl -35.16+ 0.00

3000 - 3000 - 3000 - 3000 1

2000~ - 2000 » - 2000 ] 2000 [ -

T ] 1000 — 10001 ] woor C = 28.44 [ps/ch 7]
EY 00 0 EY 0 = 5 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(5,6,8) TVC(eb,oh)=(5,6,9) TVC(eb.oh)=(5, 6, 10) TVC(e.heh)=(5, 6, 11)
T nuig,3o4e+u4 / 25 ~ 1 nuiL 130e+U5 / 25 T 3.Zoe+u4 /25 -1 nui ysye+ud / 25
4000 f, PD 4213+ 0.0 4000 fo, DO 4232+ 0.0 4000 __- DO 4248+ 0.0 4000 o, pO 4236+ 0.0
pl -34.56 + 0.00 pl -34.44 + 0.00 r pl -35.64 + 0.00 pl -34.49 + 0.00

- 3000

3000 -1 3000 - N 3000 -

2000 B 2000 [ E 2000 2000 [

1000 1000

] w0 C = 29.04 [ps/ch] 1or C =29.00 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

1
50 100

TVC(cbch) (5,6,12 TVC(cbch) (5,6,13 TVC(cbch) (56,14 TVC(C, bch) (5,6, 15

T rore+u4 /25 Tinaisz/e+ud [ 25 1 nuiLBUbe+U4 / 25 T nai uze+ud [ 25
41000 o, PO 4233+ 0.0 4000 b, PO 4227+ 0.0 4000 - PD 4230+ 0.0 4000 po, PO 4236+ 0.0
pl -36.37 + 0.00 pl -36.34+ 0.00 r pl -36.72+ 0.00 pl -36.74+ 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b Ch) (5,7,0) TVC(c,b Ch) (5,7,1) TVC(c,b Ch) (5,7,2) TVC(c,b Ch) (5,7,3)
A~ 1L 5 3e+0d 125 X~ 1L dvae+0d ] 25 K~ 1 dove U [ 25 X~ 1L boze+04 ] 25
4000 4213+ 0.0 4000, po 4227+ 0.0 4000 fm PO 4232+ 0.0 4000 fr, PO 4250 0.0
-35.11 % 0.00 Pl -35.60: 0.00 [ pl -35.1% 0.0 Pl -35.62+ 0.00

* 3000

3000 - 3000 -1 3000 = N

2000 — 2000 1 2000 2000

1000 - 1000 1000

] wol- C = 28.49 [ps/ch

1 1 1 1 L 1 1 1 1 1
50 100 50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (57,4 TVC(cbch) (5.7, TVC(cbch) (57,6 TVC(c, bch) (5.7,

“ g 24‘.‘)9+UA 125 Tnar 2b/E+U4/25 ~ g '.'?bbeHJd 125 Sonarg, /)de+04/25
4000 pO 42445 00 4000 e, pO 4246£ 0.0 4000 fem, pO 42451 0.0 4000 fr, pO 42521 0.0
Pl -35.22%000 Pl -3551% 000 [ Pl -35.74% 000 Pl -35.44%000
3000 ] 3000 - 3000 5 3000 | 4
2000 ] 2000 - 2000~ . 2000 ]
1000 ] w000 C ] wor C = 27.98 [ps/ch ] woF C = 28.22 [ps/ch ]
1 - o 1 . 1 -
50 00 50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (5 7,8 TVC(cbch) (5 7,9 TVC(cbch) (5, 7 10 TVC(cbch) (5, 7

© 1 nuzpuye+ud / 25 -1 u3ye+us / 25 T nuozse+u4 [ 25 T aa/e+u4/25
4000 e, po 4222+ 0.0 4000 e, pO 4247+ 0.0 4000 fom, 90 4268+ 0.0 4000 p° 4260+ 0.0
Pl -36.26 0.00 Pl -36.57+0.00 3 Pl -36.36+ 0.00 Pl -35.48+ 0.00

3000

1 3000 -1 3000 =1 3000 -

2000 B 2000 = 2000 2000

1000 -1 1000

T 1000 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (5, 7 12) TVC(c,b Ch) (5, 7 13) TVC(c,b Ch) (5, 7 14) TVC(c,b Ch) (5, 7 15)
~ 1 nuiL pboe+ud / 25 T 1w 444e+04 [ 25 T inuiLb1ye+ud /25 <1 baye+u4 [ 25
4000 fo pO 426700 4000 pO 4277+ 00 4000 fomm PD 4270+ 00 4000 fam, pO 4273£ 00
pl -35.7+ 0.0 pl -36.6+ 0.0 [ PL_ -36.02% 0.00 Pl -36.27% 0.00

- 3000

3000 1 3000 -1 3000 .

2000 - 2000 T 2000 E 2000

1000 ] 1000 T 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(ebeh)=(5,8,0) TVC(ebeh)=(5,8, 1) TVC(ebeh)=(5,8,2) TVC(ebeh)=(5,8,3)
i 1 1e+u4 [ 25 X 1L 7ure+ud | 25 X~ 1 L buae+Us | 25 X 1L Zo(e+Ud [ 25
4000k po 4199+ 0.0 4000 PO 4206+ 0.0 400, po 4211+ 0.0 4000 e PO 4210+ 0.0
pl -36.32 0.00 pL -36.16 + 0.00 L pl -35.26 + 0.00 pL -35.48  0.00

3000

- 3000 - 3000

-1 3000 -

2000 B 2000 B 2000 2000

1000 — 1000 1000

wol- © = 28.36 [ps/ch

_L 1 1 1 ] 1 |
50 00 50 100 50 T00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (5 8,4) TVC(c,b Ch) (5, 8 ) TVC(c,b Ch) (5 8,6) TVC(c,b Ch) (5 8,7)
~ Ui y3be+u4 / 25 - B3ye+ud [ 25 T nuz.uge+u4 [ 25 S nan 2326404 1 25
4000 pO 4227+ 0.0 4000 pO 4217+ 0.0 4000 = pO 4228+ 0.0 4000 [ pO 4242+ 0.0
Pl 3563+ 0.00 Pl -35.18+ 0.00 I PL_ 3474+ 0.00 Pl -35.31% 0.00

3000

- 3000 - 3000 - -1

. 3000

2000 7 2000 - 2000 - 2000 -

1000 — 1000 - 1000

. wof C = 28.32 [ps/ch .

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch)=(5,8,8) TVC(eh.c=(5,8,9) TVC(eb.ch)=(5, 8, 10) TVC(ebeh)=(5,8,11)
~inuiLplie+u4 / 25 T nuy.uase+u4 [ 25 © 1, (poe+u4 / 25 - 1 yybe+u4 / 25
4000 fo pO 4225+ 0.0 4000 e, pO 4245+ 0.0 4000 [, DO 4265+ 0.0 4000 [ p0 4256+ 0.0
Pl 3572000 Pl 3573000 [ PL_ -35.94% 0.00 Pl 34.77 000

3000

E 3000 E 3000 E 3000 f

2000 B 2000 - 2000 2000 -

1000 . 1000 -1 1000

lo00F C = 28.76 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (5,812 TVC(cbch) (5.8,13 TVC(cbch) (5,814 TVC(C, bch) (5.8,15

TinuiLsbre+ud / 25 T Bl1e+u4 [ 25 ~ 1L pbse+ud / 25 T ra4e+04 [ 25
41000 o, pO 4222+ 0.0 4000 o, pO 4223+ 0.0 4000 o, pD 4227+ 0.0 4000 B, pO 4241% 0.0
pl -34.99+ 0.00 pL -36.07 + 0.00 L -34.35:+ 0.00 pL -36.02:+ 0.00

- 3000

- 3000

3000 T 3000~

2000 B 2000 2000 2000

1000 1000 1000

1000:— C=29.12 [pS/Ch]

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




TVC(eb.ch)=(5,9,0)

K™ 1 nui310e+04 / 25

4185+ 0.0
-32.94+ 0.00

4000 [ PO
pl

3000

2000

w0r C = 30.36 [ps/ch]

L 1
50 100

TP delay [ns]

TVC(cbch) (59,4

4000 fur PO
pL

- i za9e+04 [ 25

4227+ 0.0
-33.53+ 0.00

3000 -

2000~

1000- C = 29.83 [pS/Ch]

L 1
EN) 100

TP delay [ns]

TVC(cbch) (5938

4000

“nuz Zole+ud [ 25
- pD 4207+ 0.0
p1 -32.98 + 0.00

3000~

2000~

oo C = 30.32 [ps/ch]

1
5 50 100

TP delay [ns]

TVC(eb.ch)=(5, 9, 12

4000 PO

p1

-1 poze+u4 [ 25
4255+ 0.0
-35.08 + 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(eb.ch=(5,9,1)

A1 nuiLgute+ud [ 25

E po 41833‘
p1 -32.94+ 0.00
[ C=30.35[ps/ch] . 7
=% s =
TP delay [ns]

TVC(c,b ch) (5,95

~ 1 nui 243e+04 [ 25

4223+ 0.0
-33.04 % 0.00

e "0
pl
L]
[ C =30.26 [ps/ch] ™-_ 7
=5 % =
TP delay [ns]

TVC(c,b ch) (5909

-1 U 3ove+ud | 25
pO 4230+ 0.0
p1 -34.42+ 0.00

[ C =29.06 [ps/ch]

50

1
100

TP delay [ns]

TVC(e.b.ch)=(5, 9, 13

= pO

- nuiLolieud /25
4254+ 0.0
-34.62+ 0.00

- C = 28.89 [ps/ch]

50

il
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

4000
-f
woof— C =30.28 [ps/ch] ™-_ 1]

T I

4000

3000
2000

1000

TVC(eb.ch=(5,9,2)

1000

S nae+ud [ 25
Freea po 4198+ 0.0
[ C =30.49 [ps/ch] ™ ]
C 5(') 10'0
TP delay [ns]
TVC(cbch) (5,9,6)
T UL 4 /9e+04 [ 25
- pO 4220:‘
[ pl -34.63+ 0.00
- C = 2887 [psichPN, 1

TP delay [ns]

TVC(e.b.eh)=(5, 9 10

-1 iUz 530e+04 [ 25
- pO 4241+ 0.0
i pl -33.03+ 0.00

TP delay [ns]

TVC(eb.ch)=(5, 9, 14

- o

pl

- 1L pzae+04 [ 25
4264+ 0.0
-35.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(ebch=(5,9,3)

AT a3 rze+04 [ 25

po
pL

4203+ 0.0
-33.16+ 0.00

[ C=30.16 [ps/ch] 7]
gé 160 -
TP delay [ns]

TVC(c,b ch) (597

- PO
p1

- nun b3ze+u4 [ 25

4233+ 0.0
-34.06 + 0.00

[ C=29.36 [ps/ch] ™, 7]
=+ % =
TP delay [ns]

TVC(c,b ch) (591

- g /bbe+U4/25
- po 4234+ 0.0
pl -33.22+ 0.00

r C =30.10 [ps/ch]

_L
50

1
100

TP delay [ns]

TVC(e.b.ch)=(5, 9, 18

pr= pO

S inun159e+u4 /25
4262+ 0.0
-34.68+ 0.00

- C = 28.84 [ps/ch]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5, 10 0)

T rnuizurze+u4 [ 25
pO 4201+ 0.0
p1 36+ 0.0

TP delay [ns]

TVC(cbch) (5.10,4

T 3r4e+04 [ 25
pO 4233+ 0.0
p1 -36.84 + 0.00

e 4
% T
TP delay [ns]
TVC(c,b, ch) (5, 10 8

T 1nug.uyse+u4 / 25
po 4233+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(cbch) (5,10, 12

[ C =28.82 [ps/ch]

T rnuiz4roe+04 [ 25
pO 4243+ 0.0
-34.7+ 0.0

50

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,10,1)

AT 1 nuzusLe+ud [ 25
po 4203+ 0.0
pl -36.28 + 0.00

1
100

TP delay [ns]

TVC(c, bch) (5.10,5

“1nuz.4/9e+04 [ 25
pO 4220 0.0
pL -36.67+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 10

-1 nuiLa4pe+U5 / 25
po 4268+ 0.0
pl -38.45+ 0.00

1
100

TP delay [ns]

TVC(cbch) (510,13

Tinuzal/e+ud [ 25
pO 4258+ 0.0
pl -36.07 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000
2000

1000

0

4000

3000
2000

1000

1000

TVC(CbCh) (5,10,2)

A~ 1 nuz.ugse+ud / 25
po 4210+ 0.0
p1 -36.6+ 0.0

TP delay [ns]

TVC(cbch) (5.10,6

S rnuzye+ud [ 25
po 4234+ 0.0
pl -37.73+ 0.00

100
TP delay [ns]

TVC(cbch) (5, 10 10

T rnun.urze+ud | 25
DO 4274+ 0.0
-37.51+ 0.00

1
100

TP delay [ns]

TVC(cbch) (5.10, 14

T rnuigzzr4e+04 [ 25
pD 4256+ 0.0
pl -35.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,10,3)

AT 1z 19ve+ud [ 25
po 4216+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(c, bch) (5,10, 7

- nu gzee+u4 / 25
pO 4244+ 0.0
pL -37.25+ 0.00

50 100
TP delay [ns]

TVC(cbch) (5, 10 1

-1 nuiz.yzoe+ud / 25
pO 4285+ 0.0
-37.8+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (5.10,15

T inuiz.zive+ud [ 25
po 4257+ 0.0
-35.61+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5,11,0)

AT 1nunzsse+ud /25
po 4173+ 0.0
p1 -34.84+ 0.00

TP delay [ns]

TVC(cbch) (511,4

T rnuazu3re+ud | 25
o, pO 4204+ 0.0
pl -36.27:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 11 8

T nuiLg/ve+u4 | 25
- po 4210+ 0.0
p1 -34.97 + 0.00

TP delay [ns]

TVC(cbch) (5.11, 12

T L pLoe+u4 / 25
= po 4226+ 0.0
pl -34.83+ 0.00

TP delay [ns]

TVC(Cbch) (5,11,1)

4000 &

Fome, po

AT 1 nuiLs14e+U4 [ 25
4174+ 0.0
pl -35.07 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (511,5

4000 fm, pO

pl

[ns]

-1 nuiLyyle+ud / 25
4219+ 0.0
-36.54 + 0.00

3000 -

2000

oo C = 27.37 [ps/ch

TP delay

TVC(cbch) (5, 11 9

4000 fem po

[ns]

T nu, 118e+04 / 25
4246+ 0.0
pl -35.78 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (511,13

4000 pO

[ns]

T inai/14e+04 / 25
4245+ 0.0
pl -35.97 + 0.00

3000

2000

1000

TP delay

[ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (5, 11 2)

~ 1w s4pe+04 [ 25
k. pO 4189+ 0.0
L pl -35.95+ 0.00

3000

TP delay [ns]

TVC(cbch) (5116

1000

-1 nurLy4ze+u4 [ 25
- pO 4216+ 0.0
[ pl -36.13+ 0.00

TP delay [ns]

TVC(cbch) (5,11, 10

1000

0

X7 1 nuiz obge+u4 / 25
-, po 4252+ 0.0
- pl -36.86 + 0.00

TP delay [ns]

TVC(cbch) (5.11,14)

Ty se+ud /25
__ pD 4245+ 0.0
L pl -35.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000
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1000
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2000

1000

TVC(cbch) (5,11,3)

po

p1

AT 1L ssye+ud [ 25
4202+ 0.0
-35.8+ 0.0

TP delay

TVC(cbch) (511,7

feme pO
pl

[ns]

-1 nuz.uy3e+us / 25
4226+ 0.0
-35.91+ 0.00

50 1(;0
TP delay

TVC(cbch) (511,11

= pO

[ns]

T nui g41e+04 / 25
4261+ 0.0
pl -35.91+ 0.00

TP delay

TVC(cbch) (5,11, 15

[ns]

)

Tinan ) oge+ud [ 25
4235+ 0.0
p1 -35.76 + 0.00

TP delay

[ns]



4000
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1000

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(eb.ehy=(5,12,0)

TonunLase+ud /25
k... pO 4199+ 0.0
pl -34.26 + 0.00

[ C =29.18 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (512 4

- /i blse+u4 | 25
- pO 4207+ 0.0
p1 -34.66 + 0.00

EN) 10‘0
TP delay [ns]

TVC(eb.ch)=(5, 12,8

-1 2.0be+ud | 25
- pO 4227+ 0.0
p1 -34.79+ 0.00

TP delay [ns]

TVC(e,b.ch)=(5, 12, 12

S s7e+04 /25
E pO 4216+ 0.0
-34.03+ 0.00

- C =29.38 [ps/ch]

A |
50 100

TP delay [ns]
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1000
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3000

2000

1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (5,12,1)

E PO

pl

A1 nuiLaroe+ud [ 25
4202+ 0.0
-34.93+ 0.00

0 1
50 100

TP delay [ns]

TVC(cbch) (5125

=11 bbye+u4 / 25
4220+ 0.0
-35.07 + 0.00

TP delay [ns]

TVC(c,b ch) (5,12,9

-1 nuig.ulve+ud [ 25

4229% 0.0
-33.53+ 0.00

r C =29.82 [ps/ch]

1
50 100

TP delay [ns]

TVC(e.b.ch)=(5, 12, 13

e, PO

T nuiLvoae+ud /25
4212+ 0.0
-34.72+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (5,12,2)

- o

A~ 1 nui 49se+u4 / 25
4225+ 0.0
p1 -36.22:+ 0.00

TP delay

TVC(cbch) (5126

- b

pl

[ns]

T g/ re+V4 [ 25
4224+ 0.0
-35.71+ 0.00

TP delay

TVC(e.b.eh)=(5, 12, 10

[ns]

- z.uae+ud [ 25
4261% 0.0
-34.35 + 0.00

4000 [, F’O

[ el
3000 — ]
2000} :
1000:- C=29.11 [psich] ™, _

- . L -

! =k T00

TP delay [ns]

4000

3000
2000

1000

TVC(e,b.ch)=(5, 12, 14

- o

© L zuse+ud [ 25
4218+ 0.0
pl -35.57 + 0.00

TP delay

[ns]

TVC(cbch) (5,12,3)

A1 nuiLbrze+ud [ 25
4222+ 0.0
pL -36.31+ 0.00

4000 [u

po

3000

2000

1000

TP delay

TVC(c, bch) (512, 7

4000 fum PO

[ns]

-1 Uz ubye+us / 25
4239+ 0.0
p1 -35.26+ 0.00

3000 -

2000 -

00l C = 28.36 [ps/ch

TP delay

TVC(cheh)=(5, 12, 11

4000 [u pO

pl

[ns]

1 nuzuzde+u4 | 25
4253+ 0.0
-34.21+ 0.00

3000 -

2000 -

lo00r C = 29.23 [ps/ch]

1
50 100

TP delay

TVC(eb.eh)=(5, 12, 15

4000 [u.

[ns]

-1 nuiLpyze+ud | 25
4221+ 0.0
p1 -34.66 + 0.00

3000

2000

1000

TP delay

[ns]
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1000
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1000

4000
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2000

1000

TVC(CbCh) (5, 13 0)

© 1z 1o9e+u4 [ 25
pO 4203+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (5.13,4

T L b/ye+ud / 25
pO 4212 0.0
pl -36.38:+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (5, 13 8

T rnuzzy1e+u4 [ 25
PD 4232+ 0.0
p1 -35.44 + 0.00

TP delay [ns]

TVC(cbch) (513,12

T L gzze+04 [ 25
pO 4238+ 0.0
pl -35.85+ 0.00

TP delay [ns]
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1000
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1000
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2000

1000

4000

3000

2000

1000

TVC(chh) (5, 13 1)

- . 14ve+Ud [ 25
pO 4211+ 0.0
pL -35.81% 0.00

1
100

TP delay [ns]

TVC(c, bch) (5.13,5

- nuiLgroe+u4 [ 25
pO 4232+ 0.0
pL -36.55+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 13

T nun.p8/e+u4 / 25
pO 4244+ 0.0
-36+ 0.0

1
100

TP delay [ns]

TVC(cbch) (513,13

Tonan g oze+ud [ 25
pO 4233+ 0.0
p1 355+ 0.0

TP delay [ns]

4000

3000
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1000
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3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(CbCh) (5, 13 2)

Tz srse+ud | 25
pO 4200+ 0.0
p1 -35.42 + 0.00

TP delay [ns]

TVC(cbch) (5.13,6

- rnuba1e+04 / 25
po 4204+ 0.0
pl -34.99 + 0.00

TP delay [ns]

TVC(cbch) (5, 13 10

~ 1 nuig.usge+u4 | 25
po 4278+ 0.0
pl -37.32+ 0.00

TP delay [ns]

TVC(cbch) (5.13, 14

T 1nuiLploe+u4 / 25
pD 4242+ 0.0
pl -35.46 + 0.00

TP delay [ns]
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1000
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1000
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2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,13,3)

C =29.12 [ps/ch]

AT 1 nuzbroe+ud [ 25
po 4200+ 0.0
p1 -34.34+ 0.00

L
50

100

TP delay [ns]

TVC(c, bch) (5,137

=11 bbae+u4 / 25
pO 4216+ 0.0
pL -35.56+ 0.00

1(;0
TP delay [ns]

TVC(cbch) (5, 13 1

T nuizzoze+u4 [ 25
pO 4269+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(cbch) (513,15

Tinairb/e+ud [ 25
4247+ 0.0
-36.31+ 0.00

1
100

TP delay [ns]
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TVC(CbCh) (5, 14 0)

- i p1e+ud [ 25
o pO 4205+ 0.0
p1 -35.93+ 0.00

TP delay [ns]

TVC(Cbch) (5, 14 4

-1 nuiLa43e+04 / 25
4205+ 0.0
-35.9+ 0.0

50 5
TP delay [ns]

TVC(cbch) (5, 14 8

- 1z s90e+U4 [ 25
e, po 4210+ 0.0
p1 -35.46+ 0.00

TP delay [ns]

TVC(Cbch) (5, 14 12

- zude+ud [ 25
e, po 4240+ 0.0
pl -35.65+ 0.00

TP delay [ns]

TVC(chh) (5, 14 1)

4000 pO

pl

“ i pale+ud [ 25
4200+ 0.0
-35.94+ 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b Ch) (5, 14 5

EURtES
400057 pO
p1

3se+u4 | 25
4196+ 0.0
-35.87 + 0.00

3000 -

2000

1000 [~ C

1
50 00

TP delay [ns]

TVC(c, bch) (5,14,9

X~ p,

4000 [

po
pl

bse+ud / 25
4231% 0.0
-35.43 + 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (5, 14 13

4000 [, pO
p1

T inuiL g rse+ud [ 25
4246+ 0.0
-36.64 + 0.00

3000

2000

1000

TP delay [ns]
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1000
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2000

4000

3000

2000

4000
3000
2000

1000

TVC(CbCh) (5,14,2)

- C = 28.20 [ps/ch

X~ 1 1L bUbe+U4 / 25
P po 4225+ 0.0
[ p1 -35.45+ 0.00

1
50 100

TP delay [ns]

TVC(Cbch) (5, 14 6

1000

1 nuiL403e+04 / 25
- pO 4225+ 0.0
- pl -36.26 + 0.00

TP delay [ns]

TVC(e,b,ch)=(5, 14, 10

1000

- 1. ysae+ud | 25
-, po 4250+ 0.0
[ pl -35.46 + 0.00

TP delay [ns]

TVC(CbCh) (5, 14 14

©nuiLgase+U4 / 25
4226+ 0.0
-35.31+ 0.00

P PR TR |
50 100

TP delay [ns]
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1000

TVC(Cbch) (5,14,3)

X1 1doe+ud | 25
4230+ 0.0
pL -36.59+ 0.00

po

TP delay

TVC(c,b Ch) (5, 14 7

= pO

[ns]

-1 nui 38Ye+u4 / 25
4211£ 0.0
p1 -35.21% 0.00

TP delay

TVC(e.beh)=(5, 14, 11

= pO

[ns]

T nuz 315e+04 / 25
4257+ 0.0
pl -35.86 + 0.00

TP delay

TVC(cbch) (5, 14 15

[ns]

Sy 3e+ud [ 25
4236+ 0.0
p1 -35.75+ 0.00

TP delay

[ns]
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1000

0
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1000

TVC(CbCh) (5, 15 0)

T rnuz.zuie+u4 [ 25
s, pO 4243+ 0.0
p1 -34.72+ 0.00

[ C =28.80 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5,154

-1z z98e+u4 | 25
Freee pO 42114 0.0
pl -36.28:+ 0.00

TP delay [ns]

TVC(cbch) (5, 15 8

Tz z3ve+u4 | 25
= po 4222+ 0.0
pl -37.15+ 0.00

TP delay [ns]

TVC(cbch) (5,15, 12

©rnuizuyse+ud | 25
- po 4257+ 0.0
pl -36.16 + 0.00

TP delay [ns]
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1000
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1000
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1000

TVC(chh) (5,15,1)

A7 1 nuiLyug4e+u4 [ 25

4229+ 0.0
-34.12+ 0.00

P PO

pl

[ C =29.31[ps/ch]

L

1
50 100

TP delay [ns]

TVC(cbch) (5,155

“rnuzlre+u4 [ 25
4219+ 0.0
-36.89 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 15

~ 1 nu.pUse+u4 / 25
4232+ 0.0
-35.56 + 0.00

TP delay [ns]

TVC(cbch) (5.15,13

pO
p1

T 1 nuiz.19ve+ud / 25
4271+ 0.0
-36.62+ 0.00

TP delay [ns]
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1000
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1000

TVC(CbCh) (5,15,2)

TP delay [ns]

TVC(cbch) (5.15,6

1000

K™ 1 nui goye+ud / 25
I~ po 4253+ 0.0
[ p1 -36.45+ 0.00

3000

- rnubyle+ud [ 25
- pO 4226+ 0.0
[ pl -36.68+ 0.00

TP delay [ns]

TVC(cbch) (5. 15, 10

T nuig 1n3e+u4 / 25
- po 4254+ 0.0
- pl -35.63 + 0.00

TP delay [ns]

TVC(cbch) (5.15, 14

Tz de+ud | 25
pD 4267+ 0.0
p1 36+ 0.0

TP delay [ns]
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1000
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1000

TVC(Cbch) (5,15,3)

po
pL

AT 1 nuzzsve+ud [ 25
4265+ 0.0
-35.26 + 0.00

TP delay

TVC(c, bch) (515, 7

o, pO

[ns]

-1 nu.440e+04 / 25
4231+ 0.0
-36+ 0.0

50 1(;0
TP delay

TVC(cbch) (5, 15 1

= pO

[ns]

T nuz n3ge+u4 [ 25
4263+ 0.0
-36.1+ 0.0

TP delay

TVC(cbch) (515,15

[ns]

T nuizuyse+ud / 25
4253+ 0.0
p1 -35.38+ 0.00

TP delay

[ns]
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TVC(cbch) (6,0,0

A~ 1 nui ruze+u4 | 25
e po 4148+ 0.0
-33.92+ 0.00

[ C =29.48 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6,0,4

- Inugzze+04 [ 25
Faue po 4168+ 0.0
pl -33.89 0.00

[ C =29.51 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (6 0,8

i 15 7e+04 1 25
P pD 4175+ 00
Pl 3584 0.00

1
50 00

TP delay [ns]

TVC(cbch) (6,0,12

T rnuiz4s3e+04 | 25
= po 4206+ 0.0
pl -35.19+ 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (6,01

AT 1 nuiLys1e+u4 /25
F.. po 4164+ 0.0
p1 -35.38 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

S U 3r8e+u4 /25
4179+ 0.0
-35.4 + 0.0

50 150
TP delay [ns]

TVC(c,b ch) (6 0,9

T nuiLUs/e+us / 25
E pO 4195+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, O 13

T nuz syze+ud | 25
P pO 4201+ 0.0
pl -35.54 + 0.00

TP delay [ns]
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TVC(cbch) (6,0,2)

- C = 28.75 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (60,6

A~ 1 nuiL ggoe+04 / 25
F.... po 4169+ 0.0
[ p1 -34.79:+ 0.00

- g 391e+u4 / 25
F.. pO 4196+ 0.0
[ pl -35.65+ 0.00

TP delay [ns]

TVC(eb,ch)=(6, 0, 10

- 1 1w, sise+u4 | 25
3 pO 4213+ 0.0
[ p1 -35.73+ 0.00

TP delay [ns]

TVC(cbch) (6,0,14

Tz 340e+04 /25
F. pD 4197+ 0.0
L pl -35.02+ 0.00

TP delay [ns]
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TVC(cbch) (6,0,3

A~ nuiLBrse+ud [ 25
Foe po 4184+ 0.0
pL -35.44 £ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

=1 nuz 5ave+04 | 25
Fueee po 4202+ 0.0
pl -34.65+ 0.00

[ C =28.86 [ps/ch]

_L

50 100
TP delay [ns]

TVC(c,b ch) (6, O

T, awe+u4/25
£ po 4218+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(c,b ch) (6, O 15

L
=]
)

T nuiz.p45e+04 / 25
4212+ 0.0
p1 -35.82 + 0.00

TP delay [ns]
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TVC(cbch) (6,1,0)

AT 1nui ry1e+u4 /25
po 4172+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(cbch) (6.1,4

- iz 8yse+04 | 25
pO 4175+ 0.0
p1 -34.13+ 0.00

[ C=29.30 [ps/ch]\,_ ]
% o
TP delay [ns]
TVC(c,b ch) (6 1,8

©nuiLysoe+u4 / 25
PD 4197+ 0.0
p1 -34.48 + 0.00

TP delay [ns]

TVC(cbch) (61,12

~ 1L yoe+u4 / 25
pO 4196+ 0.0
pl -35.58 + 0.00

TP delay [ns]
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1000
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1000
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1000

TVC(cbch) (6,1,1

AT rnuzuzie+ud [ 25
- po 4192+ 0.0
pl -37.29+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

- nuzylze+ud [ 25
pO 4159+ 0.0
pL -35.15+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,9

-1 nu.yuve+ud / 25
= po 4229+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(cbch) (61,13

T nuiyzae+ud [ 25
- pO 4190+ 0.0
pl -35.36 + 0.00

TP delay [ns]
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1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (6,1,2)

K™ 1 nuiLgsye+ud / 25
e, po 4208+ 0.0
L pl -37.76 + 0.00

3000

TP delay [ns]

TVC(cbch) (61,6

- g, 145e+04 / 25
- pO 4195+ 0.0
3 pl -35.95+ 0.00

3000

TP delay [ns]

TVC(cbch) (6, 1 10

1000

Tz, 11e+ud 1 25
- po 4242+ 0.0
L pl -35.42 + 0.00

3000

TP delay [ns]

TVC(cbch) (61,14

T L gsse+u4 [ 25
-, pD 4188+ 0.0
5 pl -34.94 + 0.00

3000

TP delay [ns]
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1000

4000
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1000

TVC(cbch) (6,1,3)

AT rnuiLyore+ud [ 25
po 4192+ 0.0
pl -37.29+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

“nu [ (ve+u4 [ 25
- pO 4188+ 0.0
p1 -34.65+ 0.00

TP delay [ns]

TVC(c,b ch) (6, l

T, 154e+u4/25
- po 4252+ 0.0
pl -35.42 + 0.00

TP delay [ns]

TVC(cbch) (61,15

-1 nuiyuye+ud / 25
pO 4196+ 0.0
p1 -35.53+ 0.00

TP delay [ns]
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TVC(cbch) (6,2,0)

T zure+ud /25
- pO 4197+ 0.0
pl -37.29+ 0.00

TP delay [ns]

TVC(cbch) (6.2,4

- Z29e+04 [ 25
e pO 4212+ 0.0
pl -35.77+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 2,8

T 3z4e+04 | 25
- po 4218+ 0.0
pl -34.89 + 0.00

TP delay [ns]

TVC(cbch) (6,2, 12

Tz 194e+04 / 25
= po 4210+ 0.0
pl -34.79+ 0.00

TP delay [ns]
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1000
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1000

4000
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1000

TVC(cbch) (6,2,1

A7 1 nuiLyvbe+ud [ 25
P e po 4207+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,5

-1 nu.Zz4e+04 [ 25
[Fomes, pO 4217+ 0.0
pL -36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,9

-1 nuy syve+ud / 25
- pO 4261+ 0.0
pl -36.92 + 0.00

TP delay [ns]

TVC(cbch) (6,213

Tinuz141e+u4 /25
= pO 4236+ 0.0
pl -36.49+ 0.00

TP delay [ns]
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1000

4000
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1000

4000
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1000

TVC(cbch) (6,2,2)

- C = 28.34 [ps/ch

AT 1nug3se+u4 /25
P, po 4206+ 0.0
o pl -35.28 + 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (62,6

-1z 330e+04 / 25
- pO 4233+ 0.0
[ pl -35.65+ 0.00

3000

TP delay [ns]

TVC(cbch) (6, 2 10

© 1z z94e+04 | 25
__ DO 4262+ 0.0
- pl -35.79+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,2 14

Tz z1e+04 /25
. pD 4223+ 0.0
L pl -35.23+ 0.00

3000

TP delay [ns]
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1000
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3000
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1000

4000

3000

2000

1000

TVC(cbch) (6,2,3)

po
pL

x- 1 iz doae+Ud | 25
4210+ 0.0
-36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,7

-,

feme pO
pl

love+ud [ 25
4247+ 0.0
-36.12+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (6, 2

- pO

ERALER b':ue+l]4/25
4274+ 0.0
-36.69 + 0.00

TP delay [ns]

TVC(C, bch) (6,215

Tinuzzsie+ud [ 25
4242+ 0.0
-35.67 + 0.00

TP delay [ns]



TVC(cbch)(630) TVC(cbch)(631) TVC(cbch)(632) TVC(cbch)(633)
X~ 1L Broe+ud [ 25 A i 7agerud | 25 X~ 1 9s0e+0d | 25 A L7 2zev04 ] 25
4000, PO 4194+ 0.0 a00E, po 4200+ 0.0 A000FL, PO 4212+ 0.0 4000 e, PO 4214% 0.0
pl -36.58:+ 0.00 pL -36.81+ 0.00 [ pl 3664+ 000 pL 35.7+ 0.0

3000

- 3000 =1 3000 -1 3000 -

2000 -1 2000 = 2000 = 2000

1000 - 1000 = 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b Ch) (6 3,4) TVC(c,b Ch) (6, 3 ) TVC(c,b Ch) (6 3,6) TVC(c,b Ch) (6 3,7)
T zuze+ud [ 25 T rnua.uase+ud 25 Tnu11/e+u4 [ 25 T z33e+ud [ 25
4000, pO 4228+ 0.0 4000 pm, pO 42312 0.0 4000 e, pO 4235+ 0.0 4000 fas pO 4246+ 0.0
Pl -37.36+ 000 Pl -36.32%0.00 [ PL_ -36.04% 0.00 Pl 3563 0.00
3000 [ B 3000 E 3000 — — 3000 [ E
2000 1 2000 b 2000 ' _ 200017 ]
woo- C = 26.77 [ps/c 7 1000 E moo:— C =27.75[ps/ch _ woor C = 28.07 [ps/ch ]
o 1 - A 1 1 - 1 -
50 00 50 T00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ehich=(6,3,8) TVC(eh.e=(6,3,9) TVC(eb.ch=(6, 3, 10) TVC(ebeh)=(6, 3, 11)
T nu.a54e+04 [ 25 -1 uy,bbge+u4 / 25 ~ 1 a2 ypbe+ud / 25 - ru.bbge+u4 [ 25
4000 fame, pO 4233+ 0.0 4000 fme pO 4252+ 0.0 4000 fome, DO 4280+ 0.0 4000 fe p0 4260+ 0.0
pl 3591 0.00 Pl 3537000 L 358+ 0.0 Pl -35.61% 0.00

3000 T 3000 - 3000 - 3000 T

2000 T 2000 - 2000 -1 2000

1000 1000 - 1000 B 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(631 ) TVC(cbch)(6313) TVC(cbch)(63l4) TVC(cbch)(6315)
T, szye+ud [ 25 Tz 15e+u4 [ 25 Tnuz1oe+u4 /25 T g zoge+u4 [ 25
4000 e pO 42345 00 4000 s pO 42212 0.0 4000 o, PD 4224500 4000 [, pO 4240£ 00
pl -35.61+ 0.00 pl -34.96 + 0.00 : pl -36.04 + 0.00 pl -36.28 + 0.00

3000 .

g 3000 4 3000 E 3000

2000 - 2000 - 2000 =1 2000

1000 1 1000

] 1000 - 1000[-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0)

A~ 1nui doze+04 | 25
4196+ 0.0
-35.88+ 0.00

TP delay [ns]

TVC(cbch) (64,4

T i z31e+u4 / 25

4185+ 0.0
-33.95+ 0.00

=N pO
pl
[ C =29.46 [ps/ch] ]
o+ o
TP delay [ns]
TVC(cbch) (6 4,8
= pD

-1 nu 3z0e+04 [ 25
4188+ 0.0
-35.42+ 0.00

p1

TP delay [ns]

TVC(cbch) (64,12

T rnuiL4sse+u4 / 25
4220+ 0.0
-33.45+ 0.00

[ C =29.89 [ps/ch] . ]

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1)

e po

x- 1 i Soae+U4 | 25
4175+ 0.0
-35.36+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (6 4,5

pO
pl

-1 i 3bbe+u4 / 25
4183+ 0.0
-34.71+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (6 4,9

T nun.131e+u4 /25
4207+ 0.0
-35.06 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 4 13

T inuin4se+ud [ 25
4219+ 0.0
-34.58 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

- po

pl

X~ 1L b1se+u4 [ 25
4189+ 0.0
-35.99 + 0.00

TP delay [ns]

TVC(cbch) (64,6

pD
pl

©1nuiLb34e+04 / 25
4187+ 0.0
-35.18 + 0.00

TP delay [ns]

TVC(eb,ch)=(6, 4, 10

pO

pl

-1 U 301e+04 [ 25
4239+ 0.0
-34.71+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 4 14

Sy :))Je+U4 125
- pD 4227+ 0.0
[ pl -33.59+ 0.00
FC =20.78 [ps/ch] ™.

PR R R SR R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3)

. PO
p1

AT 1nuiL4y/e+u4 /25
4204+ 0.0
-35.59 + 0.00

TVC(c,b ch) (6 4,7

pO
pl

1
100

TP delay [ns]

-1 nui bape+u4 / 25
4199+ 0.0
-34.76 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6, 4

pO
pl

T bue+u4/25

4225+ 0.0
-33.74+ 0.00

[ C=29.64 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (6, 4 15

- vz3e+ud [ 25
4224+ 0.0
-34.45 + 0.00

[ C=29.03 [ps/ch]

PR R SR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

X~ 1w os4e+U4 [ 25
[Fones, Y 4202+ 0.0
pl -35.63 + 0.00

TP delay [ns]

TVC(cbch) (6,54

Ty e+ud /25
Fome, pO 4197+ 0.0
pl -34.07 + 0.00

[ C =29.35 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 5,8

T nuproe+ud /25
- pO 4215+ 0.0
pl -35.67+ 0.00

TP delay [ns]

TVC(cbch) (6,5,12

T rnuig.z4ze+04 | 25
4225+ 0.0
-35.51+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,51

AT 1 nuiL, ruse+u4 / 25
[, po 4212+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(c,b ch) (6 55

- U 740e+04 / 25
I 4193+ 0.0
-33.89 £ 0.00

[ C =29.51 [ps/ch] 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 59

T nuB18e+u4 / 25
- DO 4213+ 0.0
pl -35.14 + 0.00

TP delay [ns]

TVC(cbch) (6,5,13

Tz sore+ud [ 25
- pO 4248+ 0.0
pl -35.98 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,52)

X~ rsre+U4 /25
Faase. po 4224+ 0.0
I pl -36.36 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,56

T nug B83e+04 [ 25
- pO 4208+ 0.0
L Pl -34.03% 0.00

- C = 29.38 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6, 5 10

T rnug r47e+04 /25
- DO 42412 0.0
3 Pl -3556+ 0.00

TP delay [ns]

TVC(cbch) (6,5,14

~ 1 nuiz 19ve+u4 | 25
- PD 4221+ 0.0
L pl -35.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

AT 1 nuiL3Yoe+u4 / 25
™. PO 4210+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(c,b ch) (6 57

T g, r1ze+u4 [ 25
- PO 4210+ 0.0
Pl -34.96% 0.00

TP delay [ns]

TVC(c,b ch) (6, 5

SEALVR azbe+u4/25
- pO 4247+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(C, bch) (6,5,15

T ruiz.ulve+u4 [ 25
- pO 4234+ 0.0
pl -35.95+ 0.00

TP delay [ns]



TVC(cbch)(660) TVC(cbch)(661) TVC(cbch)(662) TVC(cbch)(663)
A7 1nui rsoe+u4 /25 AT 1 nunLroze+ud [ 25 A7 1 nun suze+u4 / 25 AT 1L Buse+u4 [ 25
4000k, po 4197+ 0.0 4000, po 4207+ 0.0 a0, po 4202+ 0.0 4000 R, po 4214% 0.0
pl -35.29+ 0.00 pl -35.7 £ 0.0 - pl -35.32+ 0.00 pl -35.27 + 0.00
3000 B 3000 — 3000 -1 3000 - 1
2000 B 2000 -1 2000 L -

-1 2000

1 ool C = 28.31 [ps/ch

1000 1 . ol ¢ = 28.35 [ps/ch 1
0 1 1 1 - 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b Ch) (6 6,4) TVC(c,b Ch) (6, 6 ) TVC(c,b Ch) (6 6,6) TVC(c,b Ch) (6 6,7)
T 1 sze+ud [ 25 - nur Byze+ud | 25 T i foze+u4 [ 25 - yzse+ud [ 25
A000FL, pO 4181+ 00 000, pO 4206+ 0.0 4000E_, pO 41941 00 4000 o, pO 4206+ 0.0
Pl 3489+ 0.00 Pl -36.17% 000 3 PL_ -35.35: 0.00 Pl 3577000
3000 — 3000 - 3000 ] 3000 - ]
2000 ] 2000 g 2000 ] 2000 4
1000 . 1000 ] wol- © = 28.29 [ps/ch . wop C ]
. . - o .
50 T00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(eh.ch)=(6,6,8) TVC(e.c)=(6,6,9) TVC(eb.ch)=(6, 6, 10) TVC(ebeh)=(6,6,11)
©1nu, 39ge+ud / 25 - 1L ugbe+us / 25 © 1 nug,u4ye+u4 [ 25 ~ru.buse+u4 [ 25
4000 pO 4215+ 0.0 4000 e, pO 4247+ 0.0 4000 [, DO 4258+ 0.0 4000 [ p0 4254+ 0.0
Pl 3549 0.00 Pl -34.74% 0.00 L PL_ 3579 0.00 Pl -35.01 0.00
3000 E 3000 [ . 3000 - 3000 -
2000 4 2000 |- - 2000 3 2000 4

1000 1000~ 1000

] 100 C = 28.78 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(661 ) TVC(cbch)(6613) TVC(Cbch)(661 ) TVC(cbch)(6615)
TinuiLyrse+ud / 25 T ysze+u4 [ 25 TrnuiLs1ze+u4 [ 25 T g e+u4 [ 25
4000 pO 4233+ 0.0 4000 pO 4226+ 0.0 4000 PD 4223+ 0.0 4000 o, pO 4237+ 0.0
pl -35.65+ 0.00 pl -35.48 + 0.00 r pl -35.34+ 0.00 pl -36.02 + 0.00

3000 -1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000 [~ -1 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b Ch) (6,7,0) TVC(c,b Ch) (6,7,1) TVC(c,b Ch) (6,7,2) TVC(c,b Ch) (6,7,3)
K~ 1 ouoe U4 ] 25 X 1LdLe+Ud ] 25 X~ 1 laser0a ] 25 % 1o re+Ud ] 25
4000 41853‘ 000, po 42093‘ 4000, po 42153‘ 4000 o, po 4215?‘
-35.31+ 0.00 pl_ -36.54+ 0.00 [ pl -36.11+ 0.00 Pl -35.38 0.00

- 3000

3000 = 3000 =1 3000 - -1

2000 — 2000 7] 2000 ] 2000 [

1000 - 1000 ] 1000: w0 C = 28.27 [pS/Ch 7]
1 1 ~- 1 1 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (6.7,4) TVC(cbch) (6.7,5) TVC(cbch) (6.7,6) TVC(cbch) (6,7,7)
- 1 nurLyu4e+ud / 25 -1 nui Bz4e+04 [ 25 - rnu 153e+04 / 25 -1 nu.2y4e+04 [ 25
4000 pO 4198+ 0.0 4000 g, pO 4209+ 0.0 4000 fo pO 4217+ 0.0 4000 R pO 4216+ 0.0
pl -34.59 + 0.00 pL -35.16 + 0.00 3 pl -34.87 % 0.00 pL -34.36 + 0.00
3000~ - 3000 E 3000 — — 3000 -
2000 - E 2000 B 2000 - — 2000 [ -
10001 ] 1000 . woor C = 28.67 [ps/ch ] or € =29.10 [ps/ch] ]
1 1 " [ 1 1 =] 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (6,7,8) TVC(c,b ch) (6.7,9) TVC(c,b, ch) (6,7,10) TVC(c,b ch) (6,7,11)
T U 3bre+ud / 25 T i 1/be+u5 / 25 T f (5e+U4 / 25 T ru.439e+04 [ 25
4000 e pO 42074 0.0 4000 pO 4226+ 00 4000 DO 4250+ 0.0 4000 e, p0 4260+ 0.0
pl -35.82:+ 0.00 pL -36.29+ 0.00 [ pl -36.94 + 0.00 pL -37.34+ 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

0

0 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(6712) TVC(cbch)(6713) TVC(cbch)(67l ) TVC(cbch)(6715)
Tanuz3re+u4 /25 Tz 31ze+u4 [ 25 T, 183e+u4 [ 25 S iz zge+ud | 25
4000 fm, pO 4253+ 0.0 4000 [, pO 4247+ 0.0 4000 fm, PD 4251+ 0.0 4000 [, pO 4261+ 0.0
pl -36.26 + 0.00 pl -37.03+ 0.00 r pl -36.35+ 0.00 pl -36.56 + 0.00

3000 -1 3000 - 3000 -1 3000 -1

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,0

K71 nuig syne+ud [ 25
- po 4181+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (6,84

- b31e+u4 / 25
e, pO 4266+ 0.0
p1 -38.74+ 0.00

50 10‘0 =
TP delay [ns]

TVC(cbch) (6 8,8

T nuiL g e+u4 [ 25
= pO 4211+ 0.0
p1 -34.92 + 0.00

TP delay [ns]

TVC(cbch) (6,812

T L gsse+u4 / 25
= po 4221+ 0.0
pl -35.69 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,81

AT 1 nuzbo/e+ud [ 25

Foase po 4179+ 0.0
pl -34.63+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

L pO

11U 538e+u4 | 25

pl -37.55+ 0.00

4250+ 0.0

TP delay [ns]

TVC(c,b ch) (6 8,9

rnun.1/1e+u4 /25

e, po 4220+ 0.0
p1 -34.44 £ 0.00

[ C =29.03 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (6,813

i $1oe+u4 [ 25

foe, pO 4232 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,8,2)

A7 1 nuz usoe+u4 / 25
4203+ 0.0
-349+ 0.0

P w0
L pl
L C = 28.65 [ps/ch 1
+ s
TP delay [ns]
TVC(cbch) (6,8,6)
“rnun21be+04 /25
- pO 4261*7‘
L pl -38.04 + 0.00
- C =26.29 [pslc .
=+ o

TP delay [ns]

TVC(cbch) (6, 8 10

=1 nuig,

- "0
pL

148e+04 /25
4252+ 0.0
-35.14 + 0.00

TP delay [ns]

TVC(cbch) (6,814

T L blpe+u4 / 25
4220+ 0.0
-34.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,3)

po
pL

AT 1 nuzbole+ud [ 25
4206+ 0.0
-35.61+ 0.00

100

TP delay [ns]

TVC(c,b ch) (6 8,7

P pO
pl

- U 3z8e+u4 / 25
4281+ 0.0
-37.79 % 0.00

100

TP delay [ns]

TVC(c,b ch) (6, 8

= pO

T 514e+u4/25
4259+ 0.0
-34.91+ 0.00

pl

TP delay [ns]

TVC(C, bch) (6,815

T nui gooe+ud / 25
4230+ 0.0
-35.02+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,0

A1 nuig zose+U4 [ 25
Focea po 4212+ 0.0
p1 -36.5+ 0.0

TP delay [ns]

TVC(cbch) (69,4

T Ly 3e+ud / 25
o pO 4235+ 0.0
pl -35.07:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 9,8

T rnuzgr9e+u4 | 25
- po 4219+ 0.0
pl -34.95+ 0.00

TP delay [ns]

TVC(cbch) (6,9,12

T L 5Ee+U4 / 25
= po 4236+ 0.0
pl -33.99+ 0.00

[ C =29.42 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,1

AT 1 nuzusze+ud [ 25
Fraee po 4218+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

© 1 nui B38e+u4 / 25
4248+ 0.0
-35.7 £ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 9,9

T inup.Zz1ie+ud | 25
- pO 4231+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(cbch) (6,9,13

<1 nuiL bgoe+ud / 25
= pO 4232+ 0.0
pl -35.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000
3000

2000

TVC(cbch) (6,9,2)

TP delay [ns]

TVC(cbch) (69,6

1000

K71 nuig zose+V4 [ 25
_- po 4235+ 0.0
o pl -37.55+ 0.00

T LYz /e+u4 [ 25
- pO 4257+ 0.0
[ pl -35.62+ 0.00

TP delay [ns]

TVC(cbch) (6, 9 10

T nuig.zode+ud | 25
-, po 4258+ 0.0
- pl -36.04 + 0.00

TP delay [ns]

TVC(cbch) (6,9,14

1000

T rgre+u4 [ 25
4247+ 0.0
-36.51+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,3)

T zzye+ud [ 25
o= pO 4240+ 0.0
pl -37.02+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,7

-1 nui Byye+u4 / 25
- pO 4273+ 0.0
pL -36.65+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 9

T, mye+u4/25
- po 4270+ 0.0
p1 -36.14 + 0.00

TP delay [ns]

TVC(C, bch) (6,9,15

T nui sg/e+ud [ 25
- pO 4256+ 0.0
p1 -36.46 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

Ty roe+ud /25
F.... pO 4203+ 0.0
p1 -35.57 + 0.00

TP delay [ns]

TVC(Cbch) (6, 10 4

- rnuiz031e+u4 [ 25
Facee po 4212+ 0.0
pl -36.67 + 0.00

50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 10,8

- /NI yase+Ud | 25
e, po 4218+ 0.0
p1 -36.86+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 10 12

~wan 2uZe+ud [ 25
= po 4226+ 0.0
pl -35.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6, 10 1)

F.... pO

- pdserud [ 25
4206 + 0.0
pL -36.03+ 0.00

TP delay

TVC(c,b Ch) (6, 10 5

- pO

[ns]

- 1L yage+ud | 25
4217+ 0.0
pl -36.16 + 0.00

TP delay

TVC(eb.oh)=(6, 10,9

[ns]

-1 naiz.auze+u4 [ 25
4221+ 0.0
pl -35.86 + 0.00

TP delay

TVC(c,b ch) (6, 10 13

[ns]

-1 nuiz.yuoe+ud / 25
4227+ 0.0
-35.31+ 0.00

PR R SR |
50 100

TP delay

[ns]

4000

2000

4000

3000

2000

4000

3000

2000

4000
3000
2000

1000
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TP delay [ns]

TVC(cbch) (71,13

T inuizyrae+ud [ 25
4220+ 0.0
-35.35+ 0.00

TP delay [ns]

TVC(cbch) (7,1,2)

4000

3000
2000

1000

are po

AT 1nuLyrse+ud /25
4190+ 0.0
pl -36.52+ 0.00

TP delay [ns]

TVC(cbch) (7,1,6

4000

3000

2000

1000

- C = 28.07 [ps/ch

- 1 nurL9yyye+u4 / 25
pO 4230+ 0.0
pl -35.62+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(7, 1, 10

4000

3000

2000

1000

- C =30.06 [ps/ch] ™-. 1

T rnuig.uzse+u4 | 25
po 4248+ 0.0
pl -33.27 + 0.00

0

50

1
100

TP delay [ns]

TVC(cbch) (7.1,14

4000

3000
2000

1000

~ 1z 1u4e+04 / 25
4224+ 0.0
pl -35.74 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,1,3)

o, pO

p1

T zuze+ud [ 25
4220+ 0.0
-36.15+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (7 1,7

-1 nui ygye+u4 / 25
- pO 4237+ 0.0
pL -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 1

1)
T inuzs41e+04 /25
- pO 4261+ 0.0
p1 -34.61+ 0.00

[ C =28.89 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (7.1,15

T inuiz14ze+04 [ 25
4227+ 0.0
-35.19+ 0.00

TP delay [ns]



TVC(cbch)(720) TVC(cbch)(721) TVC(cbch)(722) TVC(cbch)(723)
A1 nui oose+u4 / 25 AT rnuiLbyle+ud /25 K™ 1 nuiouie+u4 /25 AT 1L ryoe+ud [ 25

A000E, po 4203+ 0.0 a00E, po 4187+ 0.0 4000, po 4196+ 0.0 4000, PO 4210+ 0.0
pl -36.12+ 0.00 pl -36.08 + 0.00 : pl -36.47 i_0.00 pl -36+ 0.0

3000

- 3000 =1 3000 -

-1 3000

2000 - 2000 -1 2000 2000

1000 - 1000 - 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (7 2,4) TVC(c,b Ch) (7, 2 ) TVC(c,b Ch) (7 2,6) TVC(c,b Ch) (7 2,7)
T nu.433e+04 / 25 T nu.431e+u4 [ 25 Tnu 1z3e+04 [ 25 -1 bybe+Ud [ 25
4000 4183 0.0 000, pO 4203+ 00 4000 e, pO 4186+ 0.0 4000 o, pO 4209+ 0.0
352+ 00 Pl -36.02+ 000 [ PL_ 3446+ 0.00 Pl 3592+ 000

- 3000 -

e 3000 .

3000 1 3000~

2000 ] 2000 - 2000 2000

1000 - 1000 - 1000 C=29.02 [pS/Ch] ] 000 4
G o : L il L L
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ebeh)=(7,2,8 TVCebeh)=(7,2,9 TVC(ebeh)=(7,2, 10 TVC(eb.eh=(7, 2,

©1nuz418e+04 / 25 T nug.zyle+ud [ 25 ©nuzb1ge+ud | 25 T o, 14/e+u4/25
4000 B po 4230+ 0.0 4000 pO 4235+ 0.0 4000 R, po 4251% 0.0 4000 o, p0 4256+ 0.0
pl -37.37+ 0.00 pl -35.39+ 0.00 r pl -36.69 + 0.00 pl -37.52+ 0.00

3000

- 3000 - 3000 -1 3000 -1

2000 - 2000 - 2000

2000

1000 1000 - 1000 X —_ 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

0

TVC(cbch) (7,212 TVC(cbch) (7.2,13 TVC(cbch) (7,214 TVC(C, bch) (7.2,15

4000 Tz 1uze+u4 | 25 4000 Tonae zae+ud /25 T Ly rve+ud | 25 T inuig szze+u4 [ 25
= PO 4212+ 0.0 = PO 4209+ 0.0 4000 PD 4222+ 0.0 4000, pO 4227+ 0.0
pl -35.98 + 0.00 pl -35.74+ 0.00 r pl -35.42+ 0.00 pl -35.54+ 0.00

3000

N 3000 _ 3000 -1 3000 -1

2000 . 2000 _ 2000 -1 2000

1000 . 1000 N 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0)

A~ 1nuiLyore+ud /25
4182+ 0.0
-35.89 0.00

TP delay [ns]

TVC(cbch) (7.3,4

= o,

181e+u4 /25
4175+ 0.0
-35.51+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7 3,8

pO
p1

Tz 2yse+u4 | 25
4192+ 0.0
-36.11+ 0.00

TP delay [ns]

TVC(cbch) (7,312

T rnuizuaze+u4 | 25
4212+ 0.0
-36.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,1)

Fomee po

pl

AT rnuzuize+ud [ 25
4192+ 0.0
-37.11 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

pO
pl

-1 nui B34e+04 / 25
4185+ 0.0
-36.24 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,9

= po

T nay glie+ud | 25
4211+ 0.0
-36.66 + 0.00

TP delay [ns]

TVC(cbch) (7.3,13

= pO

T inuiz 134e+04 / 25
4203+ 0.0
-36.16 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(cbch) (7,3,2)

P PO

pl

A7 1nug 1sse+ud [ 25
4198+ 0.0
-36.2+ 0.0

TP delay [ns]

TVC(cbch) (73,6

pO
p1

- 1L yzoe+u4 / 25
4190+ 0.0
-35.79 + 0.00

TP delay [ns]

TVC(cbch) (7, 3 10

= 90

©1nuizysze+ud | 25
4230+ 0.0
-37+ 0.0

pl

TP delay [ns]

TVC(cbch) (7.3 14

T pyle+ud /25
= pD 4208+ 0.0
L p1 -35.95+ 0.

-35.95 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,.3,3)

P PO

p1

AT 1z, 1soe+ud [ 25
4199+ 0.0
-36.37 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,7

-1 nun g1ye+u4 / 25
4194+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(c,b ch) (7, 3

T 54be+u4/25
4238+ 0.0
-36.66 + 0.00

TP delay [ns]

TVC(C, bch) (7.3,15

TinaiLyrze+ud [ 25
4220+ 0.0
-35.83+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,0

A7 nug 3s0e+u4 /25
- po 4185+ 0.0
pl -35.83+ 0.00

TP delay [ns]

TVC(cbch) (7.4,4

- i bbae+ud / 25
e, pO 4208+ 0.0
pl -35.65:+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 4,8

T g, 3s3e+U4 / 25
4210+ 0.0
-34.81+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,4,12

T rnuiz413e+04 /25
4214+ 0.0
-36.01+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (7,4,1

AT rnuzzioe+ud [ 25
- po 4181+ 0.0
pl -35.08 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (7 4,5

- rnuL9use+u4 25
o, DU 4210+ 0.0
pl -35.25+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 4

-1 nuiy Yoye+ud 25
= po 4230+ 0.0
p1 -34.99 £ 0.00

TP delay [ns]

TVC(cbch) (7.4,13

T nuiz 1ove+ud / 25
pO 4221% 0.0
pl -35.32+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000
3000

2000

1000

4000

2000

1000

TVC(cbch) (7.4,2)

AT 1nug zsse+u4 [ 25
P po 4189+ 0.0
L pl -35.84 + 0.00

3000

TP delay [ns]

TVC(cbch) (7.4,6

1000

-1 nuz,0sBe+u4 | 25
- pO 4221 0.0
[ pl -36.63+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(7, 4,10

- C = 28.82 [ps/ch]

T nuigpye+ud [ 25
po 4246+ 0.0
p1 -34.7+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (7.4,14

-1 nuiz,ugse+ud | 25
= pD 4209+ 0.0
[ p1 -35.68 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,3

AT 1z szoe+ud [ 25
Pe-. po 4193+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(c,b ch) (7 4,7

- nu 3z8e+u4 / 25
- pO 4229+ 0.0
pL -36.82:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 4

1)
Tnug1Z/e+u4 /25
= pO 4248+ 0.0
pl -35.04 + 0.00

TP delay [ns]

TVC(C, bch) (7.4,15

Tinuizarze+ud 25
- pO 4231+ 0.0
p1 -36.94 + 0.00

TP delay [ns]



TVe(EDeh)=(7,5, 0 TVe(EDCh)=(7,5, 1) TVC(eb.ch=(7,5,2) Tveeben=(7.,3

3000

2000

1000

4000

1
50 100

TP delay [ns]

TVC(cbch) (7,54

-1 Baze+u4 | 25
P, pO 4186+ 0.0
p1 -34.46 + 0.00

3000

2000

1000

4000

1 1
50 100

TP delay [ns]

TVC(c,b ch) (7 55

-1 nui ya3e+u4 [ 25
4207+ 0.0
-35.5 % 0.0

2000

1000

4000

TP delay [ns]

TVC(cbch) (7,56

- nunLyzge+ud [ 25
E. pO 4202+ 0.0
[ pl -34.92+ 0.00

3000

2000

1000

4000

A” 1w 534e+04 / 25 “ i g bye+ud /25 AT 1L y1se+ud [ 25 A~ 1 gbye+ud [ 25
4000 4184+ 0.0 400 po 4190+ 0.0 4000, po 4209+ 0.0 4000 R, po 4215+ 0.0
-34.91% 0.00 Pl -35.17%0.00 L pl 3577+ 0.00 pl_ -3554% 0.00

3000

TP delay [ns]

TVC(c,b ch) (7 57

-1 nuz.01ye+u4 / 25
- pO 4214+ 0.0
p1 -35.24+ 0.00

3000 ] 3000 - a000| ] 3000 ]
2000~ - 2000 B 2000 ] 2000 - 1
1000 . 1000 b 1000:— C =28.63 [ps/ch — woor C = 28.37 [ps/ch ]
1 1 - 1 1 - ] 1 1 - L 1 -
50 T00 50 00 50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7 5,8

T 1nuz.443e+04 [ 25
[, PD 4203+ 0.0
pl -36.38 + 0.00

TP delay [ns]

TVC(cbch) (7,5,12

T~z 1o0e+04 / 25
= po 4235+ 0.0
pl -36.45+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (7 59

T nug1ae+U4 / 25
= po 4216+ 0.0
pl -36.74 + 0.00

TP delay [ns]

TVC(cbch) (7.5,13

T inuiz143e+u4 /25
= pO 4236+ 0.0
p1 -36.6 + 0.0

TP delay [ns]

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7, 5 10

1000

0

T 4.07e+04 /25
. po 4235+ 0.0
- pl -36.45+ 0.00

TP delay [ns]

TVC(cbch) (7,5,14

1 nuiLyyoe+u4 / 25
- pD 4239+ 0.0
L pl -37.07 + 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (7, 5

T, 4bze+u4/25
= po 4239+ 0.0
p1 -36.16 £ 0.00

TP delay [ns]

TVC(C, bch) (7.5,15

-1 nui yoye+ud / 25
4223+ 0.0
-35.81+ 0.00

PR I S S |
50 100

TP delay [ns]



TVC(cbch) (7,6,0

4000

3000

2000

1000

A~ 1 nuizusze+ud [ 25
¥ s po 4224+ 0.0
p1 -36.64 + 0.00

TP delay [ns]

TVC(cbch) (7.6,4

4000

Tinaz(1e+u4 / 25
k. pO 4204 0.0
Pl 3531+ 0.00

3000 ]
2000 - ]
10001~ C ]
1 L "
50 100
TP delay [ns]
TVC(cbch) (7.6,8)
T nug, 134e+04 / 25
4000 [ pD 4185+ 0.0
-33.93  0.00
3000 - 7
2000 - 1
wor C =29.48 [ps/chl™, 7
. -

0

1
50 00

TP delay [ns]

TVC(Cbch) (7, 6 12

4000

3000

2000

1000

Ty, (48e+04 | 25
= po 4199+ 0.0
pl -32.36 + 0.00

[ C =30.90 [ps/ch]

. PR |
= 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,1

AT 1 nuzuLve+u4 / 25
F.. po 4227+ 0.0
p1 -36.32+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5

-1 nuiz.a48e+ud | 25
Fucse po 4222+ 0.0
pl -35.72+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,9

T nuy.4/4e+04 [ 25
= pO 4220+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(c,b Ch) (7, 6 13

TinuiLy4/e+ud [ 25
= pO 4232+ 0.0
pl -35.28 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000

2000

TVC(cbch) (7,6,2)

AT 1L yzie+ud [ 25
-_ po 4221+ 0.0
[ p1 -35.84 + 0.00

3000

TP delay [ns]

TVC(cbch) (76,6

1000

Tz b13e+u4 [ 25
- pO 4236+ 0.0
[ pl -36.15+ 0.00

TP delay [ns]

TVC(eb,oh)=(7, 6, 10

- i, 9ze+04 | 25
F po 4245 0.0
L pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (7.6,14

-1z z9ze+04 [ 25
- pD 4245+ 0.0
L pl -36.49 £ 0.00

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,3

A~ 1 iz Usse+ud | 25
= po 4238+ 0.0
pL -36.43+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,7

S nu 3/e+04 [ 25
- pO 4249+ 0.0
p1 -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 6

T, /sze+u4/25
= pO 4233+ 0.0
p1 -34.92+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 6 15

T inuizarae+04 /25
= pO 4237+ 0.0
p1 -35.54 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,0

AT rzze+04 /25
o, po 4203+ 0.0
p1 -34.7+ 0.0

TP delay [ns]

TVC(cbch) (7.7,4

Tanu 1./e+04 /25
Foe pO 4200 0.0
p1 -34.76+ 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 7,8

T rnuzpgle+ud | 25
= po 4213+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(cbch) (7,7,12

~1nuizugse+ud | 25
= po 4220+ 0.0
pl -37.36 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,71

A7 1 nuiLbooe+ud /25
e po 4216+ 0.0
pl -35.34+ 0.00

TP delay [ns]

TVC(c,b ch) (7 7,5

- nui /48e+04 [ 25
Fne pO 4211£ 0.0
pL -35.51% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 7

~ 1 nu.B4ze+04 / 25
= po 4228+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (7,7,13

T nuiz.uzze+ud | 25
4219+ 0.0
-37.61+ 0.00

50 100

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (7,7,2)

- C = 28.59 [ps/ch

A~ 1 nui oose+u4 / 25
P, po 4215+ 0.0
[ pL -34.98  0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (7.7,6

T i rzze+04 [ 25
pO 4229+ 0.0
pl -36.16 + 0.00

TP delay [ns]

TVC(ebeh)=(7, 7, 10

©1nuiz.a84e+04 | 25
=, po 4236+ 0.0
- pl -36.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,7,14

T 1nuig.z45e+04 | 25
- pD 4217+ 0.0
L p1 -36.66 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.7,3)

- PO

p1

AT 1L BUbe+u4 [ 25
4220+ 0.0
-35.26 + 0.00

TP delay [ns]

TVC(c,b ch) (7 7,7

feme pO
pl

-1 nun g1ge+u4d / 25
4232+ 0.0
-35.77 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

1)
T nuiLyule+ud / 25
4247+ 0.0
-35.85+ 0.00

TP delay [ns]

TVC(C, bch) (7.7,15

T nuiz 1bze+ud [ 25
4219+ 0.0
-37.09+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,8,0)

K™ 1 nuig tove+ud / 25
4159+ 0.0
pl -35.92+ 0.00

TP delay

TVC(cbch) (7.8,4

[ns]

. 23se+04 [ 25
4177+ 0.0
pl -35.59 + 0.00

TP delay

TVC(cbch) (7 8,8

[ns]

T g 3z1e+04 / 25
4193+ 0.0
pl -35.06 + 0.00

TP delay

TVC(cbch) (7,812

b po
p1

[ns]

~1nuiz.49ve+u4 | 25
4205+ 0.0
-37.2+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,8,1)

Fomes po

AT rnuz.zsse+ud [ 25
4173+ 0.0
pl -35.46 + 0.00

TP delay

TVC(c,b ch) (7 8,5

[ns]

- 1z ube+ud | 25
4184+ 0.0
pl -35.96 + 0.00

TP delay

TVC(c,b ch) (7 8,9

pO

[ns]

~ 1 nuiL Uzse+us / 25
4214+ 0.0
p1 -35.79+ 0.00

TP delay

TVC(cbch) (7.8,13

= pO
pl

[ns]

T nuiz zoge+ud | 25
4211+ 0.0
-38+ 0.0

TP delay

" PR S T R ...
50 100

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

= 5o
: o
3000:— __
2000:— _:
wof- C = 29.86 [ps/ch] ™, 1
& = e

4000

3000
2000

1000

TVC(cbch) (7,8,2)

froese po

pl

AT 1nug1s1e+04 /25
4174+ 0.0
-35.31+ 0.00

TP delay [ns]

TVC(cbch) (78,6

froese PO

p1

T rnu33/e+04 [ 25
4191+ 0.0
-36.03 + 0.00

TP delay [ns]

TVC(cbch) (7, 8 10

© 1 nuig.yzve+u4 | 25
4200+ 0.0
-33.49+ 0.00

TP delay [ns]

TVC(cbch) (7.8 14

Tz gr4e+04 [ 25
4224+ 0.0
-38.22+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,.8,3)

AT 1nunzaze+u4 /25

Fone, po

p1

4174+ 0.0
-34.67 + 0.00

[ C =28.84 [ps/ch

L
50

100
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